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1. BAJVIbHO-PEMTUHI'OBASI CUCTEMA ONLEHHUBAHUA YPOBHS
COOPMUPOBAHHOCTHU KOMIIETEHIUH ITO JUCHUIIJIMHE/TTPAKTUKE

OuenuBanve YpoBHS C(OPMUPOBAHHOCTH KOMIIETEHIMH 10 MTOraM HU3Y4YeHHS
auciuIuinHbl « HOCTpaHHBIN A3bIK ((DaKyJIbTaTHUB)» OCYIIECTBISIETCS B COOTBETCTBHH C

neucteytomei B PYJIH bannsHo-peittunrosoii cuctemoii (BPC).

Tabruya
chopMuposaHHOCmuU KoMnemet

1.1.

Bannvrno-petimuneosas
utl no oucyuniure « Mnocmpanuwlil A3viK (Ghaxyromamus)»

cucmema

OYEeHUBaHUA

VPOGBHA

DOopMBI KOHTPOJIS YPOBHS OCBOeHUs | ., | MunumansHoe |bamist
OOII % KOJTMYECTBO  |pasmen
dopmupyeMbIe = OasIoB Juis a
KOMIICTEHIIHH: = |maHHOI TeMsI st
VK-4 L% MPOMEKYTOUHOM
Pa3nen arTecTanun
ITHCITATITIHBI Camocrosi-
TeJbHasA
TecTbl yncIO padora
3aganuid — 30, YCTHBIR CTyAEHTA
1 3aganue — 1 onpoc* JIOMAIlIHue
TeMBbI: Oam, cymma 3a1aHHS
OaioB 3a (BBITTOJTHEHHE
3ananus - 30 MUCHMEHHBIX
3aJaHuUu 1
MIEPEBOJIOB)
1 CEMECTP
AHHOTUpPOBaHUE,
= pedepupoBanue,
2 cocTaBlieHHe 0030pOB 6 12 18 36 18
5; npodeccuoHaTEHOM
S w JIUTEPATYPBI
= Ilepeson
Z g npo(eCCUOHANBHBIX 8 7 10 25 13
g = TEKCTOB
32 Harmcanue u 100
= § Hpe3eHTaLHsA
5 Hay9HOI paGOTHI 110 4 6 9 19 9
= npoduIIo
é‘ [IOJITOTOBKH
ITpodeccrnonaibHO-
IIGI;O@I;OG oO1IeHne S 7 8 20 10
HUtoro 23 32 45 100 50
2 CEMECTP
®opmupyembie  ([DOpMBbI KOHTPOJIA YPOBHSA OCBOeHUS | . | MunumansHoe |baibl
Pazmen komnerennun:  [OOIT E KOJIMYECTBO | pa3nen
TUCHUTIIINHEL YK-4 q:) OaJUIOB JUIA a
B  |maHHO# TEeMBI mIst
LE MIPOMEKYTOUHOH
aTTeCTaluu




Tews: Commeon
TecTbl yncIO padora
3aganuid — 30, AKTHBHas CTyAEHTA
1 3aganue — 1 pabora Hf JOMalllHUe
3aHATHH
Oam, cymma 3aJaHus
OayioB 3a (BBITTOJTHEHHE
3ananus - 30 MUCHbMEHHBIX
3aJaHuN 1
TIEPEBOJIOB)
AHHOTHpOBaHUE,
= pedepupoBanue,
2 cocTaBlieHHe 0030pOB 6 12 18 36 18
c; npodeccHoHaNBLHON
= JIUTEPATyPBI
5 E IMepeson
Z g Ipo(eCCHOHANBHBIX 8 7 10 25 13
S = TEKCTOB
52 Hanucanue u 100
E E [Ipe3eHTalHs
5 X Hay9HOI paGOTHI 110 4 6 9 19 9
= npoduiro
é‘ HOJTOTOBKH
[TpodeccuonanbHo-
né?]o(}];oe oOrmmeHue S 7 8 20 10
Hroro 23 32 45 100 50
3 CEMECTP
DOpMBI KOHTPOJISI YPOBHS OCBOCHUS MunumanbHoe | basis
OOII é KOJTMYECTBO  |pasmen
dopMupyemblie q:) 6aHUHOB AT a
KOMIIETEHIUU: E AaHHOH TEMBI anﬂ
VK-4 3 MIPOMEKYTOYHON
Pasnen arrecTalnuu
MACHUTIIIUHBI Camocrosni-
TeJIbHAN
TeeTbl yncio pabora
3ananuii — 30, AKTHBHAs CTyJEeHTA
1 3apganune — 1 padora Hf JIOMalIHue
Temsr: Ga, cymma 3ausT 3a1aHUs
6aioB 3a (BbIIOIHEHUE
3aganus - 30 MUCbMEHHBIX
3aJaHul U
NIepeBOJIOB)
AHHOTHpPOBAHUE,
pedepupoBanue,
i = COCTaBJIcHHE 0030pOB 6 12 16 34 17
s 3 npodeccHoHATLHOM
T E JTUTEPATYPhI
E Eu IlepeBon
2 § po(heCCHOHATBHBIX 8 7 10 25 13 100
: S TEKCTOB
g5 Hancanue u
g E Ipe3eHTalMs]
E S Hay4HO paGoThl 110 26 6 9 41 20
npoduito

OJAIrOTOBKH




Hroro 40 25 35 100 50

*Tlon ycmuvim onpocom Ha 3aHATUU MOHHUMAETCS: OMPOC BBIMOJIHEHHOTO CaMOCTOATEIBHOTO
3amaHus (TpeACTaBICHUE aHHOTAIUH, pedepupoBaHusi, MEpPEeBOAA, JAEIOBOTO MUChMa, JOKIAI C
Mpe3eHTAIMel 110 HaydyHO! paboTe), yuacTue B AUCKYCCHHU, ay TMPOBAHKE, a TAKIKE CAMOCTOSATEIbHAS
paboTa cTyAeHTa MO PYKOBOJICTBOM IPENOIABATENs B ay IUTOPHH.

MarucTpanTsl 0053aHBI cZJaBaTh BCE 3aJaHMs B CPOKH, YCTAaHOBJICEHHBIC KaJCHIAPHBIM IJIAHOM

Kypca.

PaboThl, mpemoCTaBICHHbIE C OMNO3JAaHHEM, HE OIICHMBAIOTCS, KOHTPOJIbHBIE pabOThl HE
MEPEUCHIBAIOTCS.

Aemomamuueckan oyeHka (3auem no umozam padomaol 6 cemecmpe):

MaructpanTtsl, HaOpaBmme 51-100 6amnoB mo pe3yibratamM padOTHI 3a CEMECTp, MOIY4aroT
OILICHKY B COOTBETCTBUU C KOTMYECTBOM HAOpaHHBIX OaJIOB.

3auem:

MaructpanTsl, Habpasmue 35 - 50 6ayI0B, TOKHBI CIaBaTh 3a4erT.

MaructpanTsl, noxyuusiire 51 6amn u 6onee 3a paboTy B ceMecTpe M JKENAoUIie YIyqIIUTh
OLIEHKY, MOTYT HaOpaTh JONOJHHUTEIBHBIC OAJUTBI IPH claue 3a4eTa.

[Tpu cmaue 3auera MarucTpaHT MOXKET MOJIYIHUTH 10 20 OaJIIoB.

Cmpykmypa 3auema.

[MMCBMEHHBIH 3a4eT - 1o 10 O0ayuioB

YCTHBIN 3a4eT - 70 10 6amioB

NTOI'O makcuManbHasi cymma 0ansioB 3a 3a4et - 20 6aymuioB

KonnyecTBo 0amioB, modyd4eHHOE Ha 3adeTe, MPHUILTIOCOBBIBAETCS K KOJIMYECTBY OAallIOB,
MOJIyYCHHBIX B TEUEHHE ceMecTpa. B COOTBETCTBUU ¢ 0OIIel cymMMmol OalioB BBICTABISETCS
HWTOTOBas OLICHKA.

CooTBeTCTBUE CHUCTEM OLEHOK (UCIOJIb3YEMBIX pPAaHEE OLIEHOK HTOTOBOM aKaJeMHUYEeCKOM
ycneBaemoctd, oneHok ECTS u OGamnpHO-peritunroBoit cuctemsl (BPC) omeHok Tekymiei
YCIIEBAEMOCTH).

bannet BPC [['panuuroHHbie OLEHKH banmel OneHku Oueuku ECTS
B PO JUIsl TIEpEBOJia OLIEHOK
86 - 100 5 96 - 100 5+ A
86-95 5 B
69-85 1 69-85 1 C
51-68 3 61-68 3+ D
51-60 3 E
0-50 1 36-50 1+ FX
0-35 1 F
51-100 3auer 3auer Passed

2. OHEHOYHBIE MATEPHAJIbBI [JisdI NMPOBEIEHUSA TEKYLIEI'O
KOHTPOJISI YCHEBAEMOCTH M CAMOCTOSTEJIBHOM PABOTHI
CTYAEHTOB IO JUCHUIIJIMHE/TIPAKTUKE
2.1 Kputepum oneHUBAHHA
Pasnen 1. Aunomuposanue, pegepuposanue, cocmaenenue 0030p0o8 HAYYHOU
aumepamypuvl no CReyuaIbHOCHU.



AHHOTHpPOBaHHUE:

KoJIn4ecTBO 3a 1 cemectp — 12
KOJIMYECTBO 3a 2 cemecTp — 12
KOJIMYECTBO 3a 3 ceMecTp — 9

Kpumepuu eévicmasnenusn oyenok 3a aHHomupoeanue:

-«oTanyHO» (1 0ayur) - MarucTpaHT JIOTUYHO U IMOCIENI0BATEIbHOU3IATAET COACPKAHUE CTAaThH U
OOHapy>KMBaeT  IMOHMMAaHHE  MPOYUTAHHOTO  Marepuana,  OOOCHOBAHHO  HCHOJB3YET
001IeynoTpeOnTEIbHBIC

kiaume. daktuueckue oOmHOKM OTCYTCTBYIOT. B Tekcre aHHOTanmuu AomymieH | HegouyeT B
conepxanuu; 1

rpamMmarudeckas Oomuoka;

-«xopotioy» (0,75 GannoB) - MarucTpaHT MPEACTABISET aHHOTAIIMIO, YAOBIETBOPSIONIYIO TEM Ke
TpeOOBaHUSAM, UTO U JUIS OLICHKH «OTIUYHO», HO UMEET OO0JIbIlle HEI0UETOB B IIOCIIEI0BATEIBHOCTH
"

S3BIKOBOM O()OPMIIEHHH U3JIaraeMoro Marepualia; UMEIoTCs eAMHUYHbIE (PaKTHUeCKHe HETOYHOCTH;
-«ynoBneTBopuTenbHO» (0,5 6alIoB) - MarucTpaHT OOHAPYXKHUBAET o0IIee TOHUMAaHUE COJePKAHUS
TEKCTa,

HO M3JIaraeT MaTepHuall CTaTbU HEMOCIeI0BaTeNIbHO U I0IYCKAeT OIUOKY B I3bIKOBOM 0(OPMIICHHH;
-«HeynoBieTBOpuTeIbHO» (0 OaJIOB) - MAaruCTpaHT AOIMYCKAaeT OMMOKH B IOHWMAaHHH TEKCTa,
HCKaXKaeT ero

CMBICJI, HapylIeHa JIOTUKA U3JI0KEHUs MaTepuraa.

Pedepuposanue:

KOJIM4ecTBo 3a 1 cemectp — 16
KOJIMYECTBO 3a 2 ceMecTp — 16
KOJIMYECTBO 3a 3 cemectp — 17

Kpumepuu 6blICMABJ/ICHUA OUECHOK 3a4 peq)epupoealme:

|1. Cmpyxkmypa | 0.5 |

Bseoenue 0,1

BrisBnsieT 1 pecTaBIsgeT BO BBEACHUH MTPOOIEMATHKY TEKCTa (aKTyallbHOCTD MTPOOIIEMBI,
JKaHpP JOKYMEHTA, THI ¥ TOHAJIBHOCTh TEKCTA, IJIAH OCHOBHOM YacTH)

OcHosHas yachio 0.3

[IpencraBisger TeKCT 0OBEKTUBHO, HEUTPATHHO (HE BHOCHUT JOTOJHUTEIBHBIX, 0.1
OTCYTCTBYIOIINX B TEKCTE CBEICHHI)
Br16upaeT ¥ BOCIPOM3BOINT Han0O0JIee 3HAYUMYIO HH(GOPMAIHIO 0.1
[IpencraBiseT TEKCT YETKO U CTPYKTYPUPOBAHHO (CIIEAYET IJIaHy, MPEACTABICHHOMY BO 0.1
BBEJICHHUM ), ICTACT 3TO CIIOHTAHHO, HEITPUHYKJICHHO Y apT'YMEHTHUPOBAHHO

Saknrouenue 0.1

HeiitpansHoe: Pa3mpInuiseT mo TemMe, OMupasch Ha JIMYHBIC apTYMEHTBI U CBEACHUS, a TAKKE
uHGOPMAIUIO M3 TEKCTa

ConocraButenbHoe: [IpoBOANT COMOCTABIEHUE CUTYALINH, IPEACTABICHHON B TEKCTE, C
aHaJIorMyHOU B Poccuu WM B Ipyro cTpaHe

AprymentupoBaHHoe: [IpecTaBiseT U 3aIUIIAST CBOIO O3UIUIO M0 TEME TEKCTa, YETKO U
apryMEHTHPOBAHHO 00OCHOBBIBASI CBOIO TOUKY 3PEHUS

2. Jlunesucmuuecrkoe oghopmieHue u HanOIHeHUe 0.5

Jlexcuka. BrasieeT T€KCUYECKUM 3a1acoM, MO3BOJISIIOLIMM BbhICKA3aThCA M0 MPEAJIOKEHHON 0.16
TeMe, 00ECTIEYNBAIOIINM SICHOE BRIPAXKEHNE MBICITH U OTCYTCTBHE HEOMPABIAHHBIX
MOBTOPOB. YTOTPEOJISIET CIIOBA B X OCHOBHOM JICKCHYECKOM 3HAYCHUU, B CITydac




HEOOXOJUMOCTH JIETKO UCTIONB3YeT Neprudpasbl s 3aTIOTHCHHS CUTYaTUBHO BO3HUKAOIIUX
JIEKCUYECKHX JIAKyH, KOPPEKTHO UCIIOIB3YET TEPMHUHOIIOTHIO.

Tpammamuxa. TlpaBUIbHO ynoTpeOsSeT IIIaroiabHbIC BpeMeHa, MeCTOUMEHUS, IeTepMuHaTuBbl, | 0.16
BCE BUJIBI COTJIACOBAHUI, KOHHEKTOPHI | T JI., XapaKTepHbIE s Hay4HO! peun. Odopmitsier
CBOIO pe4b B COOTBETCTBHUH C TPABUJIAMH YCTHOTO CHHTAKCHCA, UCIIONB3YSI CHHTAKCUIECKIE
KOHCTPYKITH HAyYHOU pedu

Donemuxa. [Ipon3HOIICHHE U UHTOHAILIMS XapaKTEPUIYIOTCSI YETKOCTBIO M €CTECTBEHHOCTHIO. 0.16
Peur anexkBaTHa CUTyanuy TOPOXKICHHS, 00jamas TaKMMH ITapaMeTpaMH, Kak
aJPECCOBAHHOCTD, TPOMKOCTb, SKCIIPECCUBHOCTD.

HUmoeosas oyenxa: 1 — “otnmuno”// 0.75 = “xopomo” / 0,5 = OBLIEE 1
“y IOBJIETBOPUTENIbHO” / () = “HEyIOBJIIETBOPUTEIILHO”

Cocrapnenne 0030pOB HAYIHBIX TEKCTOB TIO CITCIIHATBLHOCTH:
KOJHMYECTBO 3a 1 cemecTp — 2
KOJIMYECTBO 3a 2 ceMecTp — 2
KOJIMYECTBO 32 3 ceMecTp — 2

Kpumepuu 68bICMAG/IEHUA OUECHOK 34 cocmaejienue 0630[)06.‘

1. Cmpyxkmypa 0.5
Bseoenue 0,1
BhIABISCT U NPEACTABIIAET BO BBEACHHH TPOOJIEMATHKY TEKCTOB
Ocnosnasn yacmo 0.3
[IpencraBiser TeKCTHl 0OBEKTUBHO, HEUTPAILHO (HE BHOCHUT JIOTIOJTHUTEIIBHBIX, 0.1

OTCYTCTBYIOIIMX B TCKCTAX CBeﬂeHHﬁ)

Bri6upaeT 1 BOCIpOM3BOIUT HanOO0JIee 3HAYUMYI0 HH(POPMAIIHIO, CONOCTaBIseT pasnudnabie | 0.1
TOYKH 3PEHMUSI, BRIPAKEHHBIC B TEKCTAX

IIpencraBisieT TEKCT YETKO U CTPYKTYPUPOBAHHO (CIIEAyET MJIaHy, MPEACTaBICHHOMY BO 0.1
BBEJICHNUH ), ICTACT ATO CTIOHTAHHO, HEMIPHHYKJIEHHO 1 apTYMEHTHPOBAHHO
Saknrouenue 0.1
2. Jluneeucmuueckoe ogopmnenue u HanoIHeHue 0.5
Vlexcuka. BnajeeT JeKCUYeCKUM 3a11acoM, MO3BOJIAIOIIMM BBICKA3aThCs MO MPEAJIOKEHHON 0.16

TeMe, 00ECTIEYNBAIOIINM SICHOE BRIPAXKEHNE MBICITH U OTCYTCTBHE HEOMPABIaHHBIX

MOBTOPOB. YTIOTPEOJISIET CIIOBA B X OCHOBHOM JICKCHYECKOM 3HAYCHHU, B CITydac

HEOOXOUMOCTH JIETKO UCTIONIB3YeT Hepudpasbl s 3aTIOJTHCHHS CUTYaTUBHO BO3HUKAOIIUX
JIEKCUYECKHX JIAKYH, KOPPEKTHO UCIIOIB3YET TEPMHUHOIIOTHIO.

[/ pammamura. [TpaBIiIbHO yIIOTPEOIISET TIAr0JIEHBIC BpEMEHA, MECTOMMEHHS, JCTEPMUHATUBBI, 0.16

BCE BUJIBI COTJIACOBAHUIN, KOHHEKTOPHI | T JI., XapaKTepHbIE s Hay4HO! peun. Odopmitsier

CBOIO pe4b B COOTBETCTBHH C TIPAaBUJIAMH YCTHOTO CHHTAKCHCA, UCIIONB3YSI CHHTAKCUIECKIIE
KOHCTPYKIIMN HAYYHOU peyH.

Donemuxa. HpOI/I3HOH_I€HI/IC 1 MHTOHAIUA XapaKTCPU3IYIOTCA YCTKOCTBhIO U €CTCCTBCHHOCTBIO. 0.16
Peub aZICKBATHA CUTyallUW HOPOKICHUH, 06.]'[8.[[3}1 TaKUMHU IapaMeTpaMiu, Kak
aZIpCCCOBAHHOCTDb, TPOMKOCTb, 3KCIIPECCUBHOCTD.

Hmoeosas oyenxa: 1 — “otmuuno”// 0.75 = “xopomo” / 0,5 = OBIIEE 1
“‘yIOBIETBOPUTENHHO / ) = “HEyOBIETBOPUTEIHHO

Cemecmp 1, 2
Annomuposanue (xon-6o 12) x 1 (max. 6ann) + peghepuposanue (kon-6o 16) x 1 (max. 6aun) +
cocmasnerue 063opa (kon-6o 2) X I (max. 6ann) = 30 + mecmuposanue (max. 6ain 6) = 36 bannos
(6ann memoi).



Cemecmp 3

Annomuposanue (kon-6o0 9) x I (max. 6ain) + pepepuposanue (kon-eo 17) % 1 (max. 6ann) +
cocmasenenue 00630pa (kon-6o0 2) x 1 (max. bann) = 28 + mecmuposanue (max. bann 6) = 34 6annos
(6ann memoi).

Pa3nen 2. Hepeaod HAYYHbBIX MEKCmOo6 no cneyuailbHocmu.

[lepeBoa HayYHBIX TEKCTOB IO CIIELHHUATBHOCTH.
KoJm4ecTBo 3a 1 cemectp — 17
KOJINYECTBO 3a 2 cemectp — 17
KOJINYECTBO 3a 3 cemectp — 17

Kpumepuu évicmagnenusn oyenoK 3a RUCbMEHHbLIL HEPEBO0 HAYYHO20 MeKCma.

- «oTimyHOY (1 GayT) - MarucCTpaHT BhIEIIET KOMMYHUKATUBHYIO 33/a4y, yHKIIMOHATIBHBIN THUI
W BHJl TEKCTa, MEPENacT JIOTMKO-KOMIO3UIIMOHHYIO CTPYKTYpYy TEKCTa, BCE COCTaBISIOLINE
COJIEp’KaHUsl TEKCTa, aJIeKBaTHO BOCIPOU3BOIUT B SI3BIKE MEPEBOJA JICKCHKO-TPAMMATUISCKUE U
CTUJIMCTHYECKHE CPEIICTBA HAYUHOU pEUH.

- «xopomo» (0,75 ©OamnoB) - MarucTpaHT BBIJCISET KOMMYHHMKAaTHBHYIO — 3ajady,
(GYHKIIMOHATBHBIN TUT M BUJI TEKCTA, TIEPEIaeT JOTHKO-KOMITO3UITHOHHYIO CTPYKTYPY TEKCTa, BCe
COCTABIISIIONINE COACP)KAHUS TEKCTa, aJeKBaTHO BOCIPOHM3BOIUT B SI3BIKE IMEPEBOJA JICKCHKO-
rpaMMaTH4YeCKHE M CTHJIMCTHYECKHE CpEACTBA HAy4YHOW peuYd, MarucTpaHT Jaomyckaer 2-4
HCTOYHOCTHU IIPU BBIIIOJIHCHHUU MNHUCBMCHHOI'0 NCPEBOAA TCKCTA; -KYAOBJICTBOPHUTCILHO» (05
OaJIJIOB) - MaruCTPaHT JOMYCKaeT OOJIBIIIOE KOJIMYECTBO CMBICIIOBBIX

HETOYHOCTEH M HCIBITHIBACT 3aTPYAHCHUS MPH IMeperadye rpaMMaTHYSCKUX M CTUIITMCTHYECKUX
0COOEHHOCTEH TPEIbBICHHOTO TEKCTA; -«HEYIOBIECTBOPHUTEIBbHO» (0 OaljoB) - MarucCTpaHT
OCYHICCTBJIACT HENOJIHBIN MEepeBOa TCKCTA U HC MIOHUMACT CMBICIT IPOYUTAHHOTO.

Ilepesoo (xon-6o 17) x 1 (max. 6ann) = 17 + mecmuposanue (max. 6ain 8) = 25 bannos (b6ann
membwl).

Paznen 3. Hanucanue u npezenmauus Hay4yHou padbomost no cneyuaibHOCmu.
JlokJiaz ¢ mpe3eHTalMe: KOJIU4ecTBO 3a ceMecTp — 3.
Kpumepuu oyenxku 0oknada u npezenmayuu.

1. Cmpykmypa — KOMUYECTBO CIIaliJIOB COOTBETCTBYET COJICPKAHUIO U TMPOJOJIKUTEIBHOCTH
BBICTYIUICHHSI (JIJ1s1 7-MUHYTHOTO BBICTYTIJICHUS] PEKOMEHTyeTCsl UCII0JIb30BaTh He Oosiee 10 crnaiinos)
— HaJIM4Ke TUTYJIBLHOTO cliaiifa u cnaiifa ¢ BeiBogamu (10 0.5 6amios).

2. Haensionocms — WILTIOCTPAIIMM XOPOIIET0 Ka4yecTBa, C YETKHUM H300paKEHUEM, TEKCT JIETKO
YUTAETCS — UCTIOIB3YIOTCS CPEICTBA HATVISIIHOCTH HH(pOpManuK (TabIUIbl, CXeMbI, TpadUKH U T.
1.) (mo 0.25 6amoB).

3. Juzaiin u wuacmpotika — oQopMIEHUE CIIalJIOB COOTBETCTBYET TEME, HE IMPENATCTBYET
BOCIPUATHIO COEPIKAHUSA, AJISl BCEX CIIAI0B MPE3eHTAIlMU UCIIONb3YETCs OJUH U TOT ke 11abjIoH
odopmiienus (1o 0.25 6amnoBs).

4. Coodepotcanue — NOKIAI U MPE3CHTALMS OTPAXKAIOT OCHOBHBIE 3Tallbl UCCIeN0BaHUs (mpodiema,
11eJ1b, TUIOTE3a, X0 pabOTHI, BEIBOJBI, PECYPCHI); COAEPKAT MOJIHYIO, MOHATHYIO HH(OPMAIIHIO TIO
Teme paboThl; OTIINYAIOTCs OpdorpaduIeckoil U MyHKTYAIIMOHHON IPaMOTHOCTBIO (10 2 6aJlIoB).

5. Tpebosarusi Kk 8biCMyniIeHuUIo:

- BBICTYTIAIOIINN CBOOOIHO BIIAJICET COACPKAHUEM, SICHO M TPAMOTHO M3JIaraeT MaTepua,

- CBOOOJTHO U KOPPEKTHO OTBEYAET HA BOMPOCHI M 3aMEYaHus ayIUTOPUH;

- TOYHO YKJIaJIIBa€TCs B paMKH persamenTa (7 MUHYT) (10 2 Oansios).



HUmoeosas oyenka: 5 — “ormuuno”// 4 = “xopomo” / 3 = “ymoBnerBOopuTeNnbHO”/ 0 =
“HeyI0OBJIETBOPUTEIBHO”

Cemecmp 1, 2

Hoknao ¢ npezenmayueii (kon-6o 3) x 5 (max. 6ann) = 15 + mecmuposanue (max. oamn 4) = 19
bannos

(6ann memoi).

Cemecmp 3
Joxnao ¢ npezenmayueti (kon-6o0 3) X 5 (max. 6ann) = 15 + mecmuposanue (max. oawn 26

(npedzawuma))
4.41 b6ann (bann memoi).

Pasnea 4. IIpodeccuonaibHo-e10B0e 001IeHHE.

JlenoBoe MUCbMO: KOJIMYECTBO 33 CEMECTP — 3.

Kpumepuu eévicmagnenun oyenok 3a nanucanue 0e108020 RUCOMA:

-«oTAMYHO» (5 OamIoB) - MarucTpaHT BJaJeeT HaBBIKAMU HAINMCaHUS JEJIOBOTO MHUCHhMA,
BBIJICP)KUBACT CTPYKTYPY, JJOTUKY U TIOCIIEOBATEILHOCTD N3JI0KEHUS JEJIOBBIX MTUCEM, UCTIOIb3YET
000pOTHI U KJIHIIIE, XapaKTepHbIe A7 JiesnoBoro odmmenus. He nonmyckaeT ommoOok.

-«xopo1oy (4 6ayia) - MaruCTpaHT JO0IMyCKaeT HETOYHOCTh B CTPYKTYpe opOopMIICHHS MUChbMa U 1-2
OIUOKHM HETPYObIe JICKCUKO-TPAMMAaTHUECKHE OINOKH.

-«yJIOBJIETBOPUTENBbHO» (3 OaJlj1a) - MArMCTPaHT JOMYCKAeT HapyLLIEH!sI B CTUJIE HalMCaHKsI IUChMa,
JOMyCKaeT 3-5 JTeKCUKO-TPaMMAaTHYECKUX OIINOOK.

-«HEYIO0BJIETBOPUTEIBbHO» (0 OaIOB) - MaruCTpaHT HE BBIACPKHUBAET CTWIb MUChbMA, OTCYTCTBYET
JIOTHKA U3JI0’KEHHSI U HapyIlIeHa MOCIeI0BaTeIbHOCTh N3NokeHus. Jlomyckaer 6 u 6oiee omnooK.

Cemecmp 1, 2
Jenosoe nucomo (xon-60 3) x 5 (max. oann) = 15 + mecmuposanue (max. oann 5) = 20 6annos (bann
membwl).

2.2. 3AJAHUA JJIAA TEKYIIET'O KOHTPOJIA U ATTECTAIMU CTYAEHTOB

2.2.1 TunoBoe 3aaHNe HA IPOBEPKY HABBIKOB AHHOTHPOBaHMS U pedepupoBaHus
1) Boinonnume annomuposanue mexkcma
2) Bvinoanume peghepuposanue mexcma

SCI-TECHscience

The recent announcement that outdoor air pollution is carcinogenic to humans has caused huge
reactions worldwide; provoking discussion in the press, within the scientific community, and among
people in general.

(CNN) -- The air many of us breathe poses serious health risks, the World Health Organization

says.
On Thursday, it added cancer to the list.

Air pollution is a now officially a carcinogen, and there are no caveats about the new

classification.

"We know that it is causing cancer in humans," said spokesman Kurt Straif.

In 2010, lung cancer resulting from air pollution took the lives of 223,000 people worldwide.
As pollution levels climb, so will the rate of cancer, the WHO said.

And there is only one way to stop it: Clean up the air.

"We can't treat ourselves out of this cancer problem," said Chris Wild, who heads the WHO's
cancer research wing, the International Agency for Research on Cancer.


http://www.euronews.com/tag/pollution/

The evaluation by the International Agency for Research on Cancer (IARC) is driven by
findings from epidemiologic studies of millions of people living in Europe, North and South America,
and Asia.

According to the IARC, there is sufficient evidence that exposure to outdoor air pollution causes
lung cancer, and an increased risk of bladder cancer.

The air in China and India is known to be very polluted, but, surprisingly, the air in Northern

Africa is,
too.

Euronews’ Claudio Rocco interviewed one of the authors of the report, scientist Dana Loomis.

“In China and in India much of what we see is due to coal burning,” explained Loomis. “It’s
industry and all the industrial development that is taking place in those countries. Here in Northern
Africa, of course, is mostly desert, with few people. The particulate pollution that we see there is from
windblown desert dust. So it’s quite different in character from the pollution coming from industry.”

Loomis added that desert dust is not as dangerous as other sources of air pollution. But,
according to an Italian study, it does produce fine particles and can cause a wide range of health
problems, including respiratory diseases.

He said the situation in Europe is very variable, with heavy pockets of pollution in certain areas
and other, cleaner regions:

“In Europe the main sources today are related to transport. That is vehicles, airplanes, and so
on. It used to be industry, and today if you go to China or India it is industry, because those are the
countries that are industrialising, much as Europe did 200 years ago,” clarified Loomis.

When it comes to protection from polllution, Loomis explained, collective, rather than
individual action needs to be taken:

“You know, air pollution is the classic public health problem, because the air belongs to
everybody. We all breathe the same air, and so one person can’t do very much to improve the quality
of their own air. You can cycle to work, you can reduce your use of fossil fuel, but it doesn’t help
you very much. It helps the community. So it’s good if everybody does those things. But it’s also
important for people to be aware of the problem, to recognize that it’s a collective problem and to
expect solutions at a governmental and international level.”

Cleaner air would also have other health benefits.

Air pollution increases the risk of bladder cancer, it has been known for a while that it
contributes to heart disease and respiratory ailments.

The problem is global, but people in developing countries with large populations and booming
manufacturing sectors with few pollution controls are said to be particularly at risk.

"The predominant sources of outdoor air pollution are transportation, stationary power
generation, industrial and agricultural emissions, and residential heating and cooking," the IARC said.

Outdoor dust can also contribute to cancer.

The agency decided upon the official classification of outdoor air pollution as carcinogenic after
reviewing the latest scientific writings and coming to the conclusion that the evidence was ample.

The classification is an important step, said Dr. Christopher Wild, director of the IARC.

"There are effective ways to reduce air pollution and, given the scale of the exposure affecting
people worldwide, this report should send a strong signal to the international community to take
action without further delay."

The IARC called air pollution the most widespread environmental carcinogen and the worst.
The most recent IARC data indicates that, in 2010, 223,000 of the deaths from lung cancer worldwide
were the result of air pollution.

But how can we be sure that air pollution was the cause of these deaths? A relevant point,

according to
Loomis:

“That’s a really important question. In fact, we can’t be sure,” he responded. “What we do is
use statistical models to try to estimate the number of deaths that are due to a variety of different



causes: air pollution; other environmental pollutions; cigarette smoking. We use data about large
populations from epidemiologic studies. So, it’s an estimate, but we think it’s a good estimate.”
Copyright © 2013 euronews SCI-TECHfuturis
Something in the airhttp://www.euronews.com/2013/10/21/something-in-the-air
http://uk.news.yahoo.com/video/carcinogenic-air-pollution-collective-issue-122504157.html

2.2.2 TunoBoe 3ajaHNe HA IPOBEPKY HABBIKOB pedepupoBaHHus.
Buvinonnume pegpepamuensiit nepesoo mexkcma c pycckozo A3vlKa HA AH2IUILCKUIL.

«[lome3HocTh» CBOMCTB reorpauyeckoil cpeabl onpenensercss NoTPeOHOCTIMH OOIIECTBA.
N3BreueHne mOJIE3HBIX CBOWMCTB B HMHTEpPECaX OJHOM OTpACId XO3SMCTBA YACTO MPHUBOAUT K
M3MEHEHUIO CTENEHNU «IIOJE3HOCT» IPYTUX CBOWCTB. Hampumep, 1€c03aroToBKa MOXKET PUBECTH K
YCWJIEHHUIO 3pO3HH, U3MEHEHUIO BOAHOIO PEKUMA TEPPUTOPHH, 3arPsI3HEHUIO BOJLOEMOB U IIP.

PanmonansHoe MpUpoI0NOIB30BaHUE NTPEAYCMATPUBAET MOTyYeHHE MaKCUMaIbHOTO 3¢ dekTa
(conuanbHOro, 5)KOHOMUYECKOTO U T. I.) B T€UEHHWE HEOIPaHWYEHHOro BpeMmeHu. Takas cucrtema
JeSTeNbHOCTH TpelHa3HaueHa oOecreynTh HambOosnee 3(P(EKTUBHBIA PEKUM BO30OHOBJICHUS U
SKOHOMHOHM 3KCIUlyaTallUM IPUPOJHBIX PECYPCOB C YYETOM NEPCIEKTUBHBIX HHTEPECOB
Pa3BUBAIOIIETOCSA XO35IMCTBA M COXPAHEHUS 3J0POBbS JIFOJICH.

OCHOBHBIMM HaIpaBICHUSMH PAlUOHAIBHOTO HCIOJIb30BAHUS MHUHEPAIBHBIX pPECYPCOB
ABIIAIOTCSL  UX  KOMIUIEKCHOE  OCBOEHHME, IPUMEHEHME B  INPOM3BOACTBE JHEPro- H
pecypcocOeperamnux TeXHOIOTHi, aKTUBHOE BHEIPEHNUE BTOPUYHOTO HCIIOIB30BaHHSI PECYPCOB.

[Tpumepom riay6okoi yTuian3anuu (IOBTOPHOE UCTIOIb30BAHNE) MPOMBIIUIEHHBIX M OBITOBBIX
0TX0J10B sBisieTcs SAnonus, crpansl 3anaaHoi Espomnsl, CLHA.

PannoHnansHOE IpUPOIONIOIB30BAHNE BOJHBIX PECYPCOB MPENYyCMATPUBAET MEPOIIPUATHS 110
IIPEIOTBPALLEHUIO 3arPSA3HEHUS BOJOTOKOB U BOJIOEM .

[TpoGnema TPUPOIOTOTB30BAHUSI KAK COCTABISIONIAS TIO0ATBHON MPOOJIEMBI «UEIOBEK U
MIPUPOJIHAS CPENA» — KOMIUIEKCHAS.

Bo nepBbIX, 3TO MeXTyHapoaHAas (MEXIocyiapcTBeHHas ) podiiemMa, TOCKOJIBKY B €€ PeIlCHHH
MPUHUMAIOT yYacTHe pa3Hble CTpaHbl. Bo BTOPBIX, 3T0 mpolieMa MeXIUCIUIITMHAPHAS, TaK KaK K
€e PEeIICHUIO MIPUBJIEKAIOTCS MHOTHE HAYKH, CPETU KOTOPBIX BasKHAS POJIb MPUHAIJICKUT reorpaduu.

Cnop cnenuamucToB O NPEUMMYIIECTBAX M HENOCTAaTKaX aJbTEPHATUBHBIX HCTOYHHUKOB
SHEPTUH, MOX0XKeE, 3aKkaHunBaercs. CTalo MOHATHO, YTO IS YEJIOBEUECTBA OYEHb BAXKHO MCKATh
HOBBIE BO30OHOBJISIEMBIE PECYPCHI.

DHeprocoepekeHne, Kak OJAMH U3 AJIEMEHTOB HayYHO-TEXHHYECKOT0 Mporpecca, UMEET CBOIO
KOPOTKYIO MCTOPHIO, HAUMHAIOMIYIOCS ¢ Havaja 70-X roJoB MPOILIOTrO CTojieTHs. B OonbImHCTBE
Pa3BUTHIX FOCYAAPCTB OBUIH MPUHSATHI PEIICHUS MO pa3paboTKe CHEeUANbHBIX IPOrPAMM SKOHOMHHU
SHEPIUH, BBIICJICHUN IPOMAIHBIX OO KeTHBIX cpeacTB Ha nposeneHrne HUP u OKP. Jleno B ToM,
410 32 80-¢ roJpl ObUT JOCTUTHYT 3HAUUTENBHBIN MPOTPECC B HOBBIX TEXHOJIOTHUSX, OIIPEICIICHHBIX B
KayecTBE MPHUOPUTETHHIX Ha MEpBOM dTare. M 3Tu HapaOOTKM cTanu akTUBHO BHeApsAThes. Cioma
MOXHO OTHECTH TEIUIOBBIE HACOCHI, BETPOBBIE T'€HEPATOPHI, COJHEYHBbIE 3JeMEHTHl. Ciemyer
OTMETUTh, YTO OJHOBPEMEHHO OBLIM BBIIEICHBl OYEHb OOJbIIME CpeICTBa Ha IyOJIWYHOE
MPOABIKEHHE TPOTPaMMBbI SHEPToCcOEPEKEHUS U pa3bsICHEHHE ee 1eJIei moTpeOuTens.
http://www.orsha.by/?page 1d=48

2.2.3 TunoBoe 3aJaHue HA MPOBEPKY HABBIKOB NMMCbMEHHOI'0 MePeB01a HAYYHOI'0
TEKCTAa MO CNeHATBLHOCTH.
Boinonnume nucomennwlii nepeeoo mekcma ¢ AH2IUICKO20 A3bIKA HA PYCCKUIL A3bIK.

INSTANT GREEN SCREENING - LOW MAINTENANCE GREENING SOLUTIONS -
ENVIRONMENTAL BENEFITS

This Treebox green screen system takes advantage of the simple concept of encouraging natural
climbing plants to cover an existing wall or structure. It is suitable for security fencing and graffiti
prevention. Installed directly into the ground between posts, against an existing wall, or planted in
bespoke troughs, they provide an instant green fagade or screening effect.


http://uk.news.yahoo.com/video/carcinogenic-air-pollution-collective-issue-122504157.html
http://www.orsha.by/?page_id=48

Key Advantages :

This simple solution is based on the natural ability of ivy to grow rapidly. It is one of the most
cost-effective solutions on the market. Additional cover can easily be achieved by adding frames and
encouraging growth over larger areas. Maintenance is easy with only periodical visits required.

We have got proven solution in green screen applications up to heights of 10 storeys and we
give 10-year warranty when maintained by the Treebox team.

Best Applications are urban locations that need a simple, low cost, low maintenance greening
solution. The screens are supplied in two heights, 1.8 and 2.2m with green and variegated options.

It is especially good for areas where instant results are required for dust suppression, pollution
reduction and noise abatement; e.g. a green screen around construction sites.

It offers temporary event solutions; e.g. a green screen around alfresco eating areas.

Considerations

Although fast growing ivy can take time to cover an area larger than the initial installation, i.e.
beyond the initial pre-grown frame.

Limited colour and textures available.

What Will It Take to ‘Build the Wall’?

Having spent the better part of a year planning, strategizing, and building partnerships with
agencies on the ground, the Treebox green screen initiative is beginning to report positive early results
in Mexico.

The project’s $2 billion budget, stemming largely from World Bank co-financing and
partnerships fostered by the Latin America Union, ensures participating countries will have the means
to see the project through to the end.

Examples of success include more than 500 green screens planted in Mexico. Most of these are
the ivy species, a small portion of the plants are also fruit-bearing, which, when mature, will help to
put more colors in the streets.

Even more dramatic is the project’s potential social impact.
http://www.greenscreen.com/Resources/download_it/IntroductionGreen W

alls.pdf

2.2.4 TunoBoe 3a1aHNe HA COCTABJIEHHE 0030POB TEKCTOB IO CHENUAJTbHOCTH.
Cocmaebme 0030p cedyrouyux mexKcmos.

A) Green energy: tomorrow's reality.

More than three million people across the EU now work in eco-industries, producing nature-
friendly goods and services.

It is an increasingly competitive sector, buoyed by constant innovation.

Let's see how scientists and manufacturers are joining forces to support this industrial

evolution.

Like in every big city, the air in London is increasingly polluted because of car fumes. One
solution is to try and make all taxis emission-free by 2020.

A small fleet of hydrogen-powered taxis is being tested as part of this European project. These
black cabs running on fuel cells rather than combustion engines are much cleaner and quieter.

"This vehicle drives entirely differently to anything I've driven before," says taxi driver Phil
Davis. "It's much smoother, quieter, and it's a pleasure to drive. It's responsive, everything on it is
electronic, which means less work for me to do. After getting out, after a few hours, it's like I've not
been to work at all," he says.

A tank-full of hydrogen gives the taxi up to 400 kilometres autonomy. The tests should give
researchers a better idea of how to make the vehicles lighter and more efficient.

Today, converting a car to hydrogen fuel increases its price five-fold - making it completely
unaffordable. But at the current rate of research, it's hoped this technology can become more
competitive in the next few years.

"There are standards that will still need to be put in place for hydrogen vehicles, but part of
projects like this helps to address those issues. As we move towards commercialisation of these


http://www.greenscreen.com/Resources/download_it/IntroductionGreenWalls.pdf
http://www.greenscreen.com/Resources/download_it/IntroductionGreenWalls.pdf

vehicles in 2015, the required regulations will be addressed and in place," says Diana Raine, project
coordinator for the HyTEC (Hydrogen Transport for European Cities) project.

With a growing demand for clean fuels, governments and scientists need to get together to
develop more efficient vehicles and better infrastructure.

The European Commissions' in-house science service, the Joint Research Centre (JRC), based
in northern Italy, works with a wide range of eco-industries.

In the JRC's vehicle emissions laboratory, tests are being carried out on new equipment that
reduces harmful engine exhausts. "We look into different options, we assess these technologies, and
then we share our conclusions with the car-making industry, setting the new standard of the future
for these cars," says Alois Krasenbrink, Head of the JRC's Sustainable Transport Unit.

But is hydrogen a cleaner alternative if it relies on fossil fuels for its production?

Are electric cars running on batteries made of imported, rare earth compounds

sustainable? Scientists are looking not only at the final product but at its carbon

footprint.

"It is certainly true that on a local level, on an urban level, electric and hydrogen fuelled
vehicles are cleaner," says Laura Lonza, scientific officer in vehicle and fuel innovation at the
JRC.

Laboratory analyses of combusting engine emissions can differ from real-life situations. This
new mobile device, developed at the Joint Research Center, fits in a car trunk and works while the
vehicle is on the road.

"The device is connected to the exhaust pipe. The exhausts go to the fume meter. This allows
us to measure directly the fume exhaust flow, and to extract a part of this flow which is then analysed,"
says Alois Krasenbrink.

Mobile tools like this are able to provide much more accurate measurements. For example,
these tests show that in certain real-life conditions, cars produce two to four times more emissions
than in a lab.

I know "All that glitters is not gold" but this is an example where public money is being

spent today. Electric cars are far from being eco but their owners don't pay additional tax -

London congestion
charge.

Biodiesel from algae is sadly missing from this video. Hydrogen fuel cell sounds great and all,
but driving around in a complex bomb is not. There is an old saying "keep it simple stupid" the
designers need to revisit this concept. The solar segment in the video was wonderful, though I was
hoping they would cover other systems as well. After all, we don't have a "silver bullet" we have
"silver buckshot", the public needs to know the many solutions we have, that are available now.

euronews futuris :

http://www.youtube.com/watch?v=POMkyF5hAxMé&feature=youtube gdata
B) Morocco makes renewable energy progress

With over 300 days of sunshine per year, Ain Beni Mathar in Morocco, near the border with
Algeria, was the perfect site to build a thermal and solar hybrid plant.

The first of its kind in Africa, Ain Beni Mathar is a real opportunity for Morocco to explore
alternative sources.

The country suffers greatly from its energy dependence, importing 97% of its coal and oil energy
needs.

The National Office of Energy and the African Development Bank have opened the doors of
the plant to euronews. On a guided tour, the company's Chief Operating Officer Nour Eddine Fetian
told us: "The principle is that the plant consists of two lines, two gas turbines, two heat recovery
steam generators, one steam turbine and lines for production and energy discharge. So steam is
produced by two sources: there is natural gas, under the normal combined cycle, and the steam
produced by the solar field. Both vapours converge towards the steam turbine and are integrated at
the same time to produce electric power.


http://www.youtube.com/show/euronewsfuturisen
http://www.youtube.com/watch?v=POMkyF5hAxM&feature=youtube_gdata

The total output of the power plant is 472 megawatts, 20MW of which is solar, allowing it to
satisfy about 10% of the country's energy demand. Ain Beni Mathar is supplied with natural gas by
the Maghreb / Europe pipeline.

Fetian Nour Eddine, the director of the Beni Mathar power plant also spoke about the intelligent
energy recovery system: "So the combined cycle recovers energy from the exhaust gases to produce
steam. Basically, after bring emitted, the exhaust gas enters a recovery boiler. The boiler is fueled by
water and produces steam through heat exchangers. This steam then reaches certain parameters of
temperature and pressure to enter the steam turbine, where it converges with the steam produced by
the solar field to power the turbine and produce electrical energy through this mechanism."

The plant uses an innovative cooling system. The giant fans are air-cooled condensers. They
reduce water consumption by 5.3 million cubic metres per year and from at least one million cubic
metres per year, there'll be an 80% saving of water.

The plant's director also explained how the cooling system works: "Since it operates in a closed
cycle, the steam powering the turbine must condense. And so we need a cooling system. The system
used in this plant is a dry cooling system, which minimises water consumption. So in effect, it
becomes an air-water exchanger. Through the fans it draws in fresh air and is injected into a heat
exchanger to condense the steam, recycle the water and resume the cycle early. But most importantly,
it reduces water consumption by a very significant margin."

The solar array occupies 88,160 hectares of the site: the 3688 cylindrical and parabolic panels
follow the sun's path. The site is a testing ground for Morocco. A 100% solar plant with a capacity of
2GW (giga watt) will soon come to Ouarzazate.

Fetian Nour Eddine, director of the Beni Mathar ISCC power plant said: "Here we have this
parabolic format, which allows the dish to track the exact position of the sun to maximise the
radiation. It quickly reflects the rays back toward the collector. This is where you find a special tube
that circulates the oil. The oil recovers the maximum recovered energy of solar radiation and then
transfers that heat to the recovery boiler."

The plant meets strict environmental standards - allowing Morocco to save 12,000 tons of fuel oil per
year. To halt its energy dependence, Morocco has implemented plans to produce 40% of renewable
energy by 2020.

http://www.youtube.com/watch?v=ZbR81ella2g

euronews hi-tech :

2.2.5. Tunosoe 3a1aHue HA MPOBEPKY YMEHHH 1 HABBIKOB NP0 eCCHOHAIbHO-1€eJI0BOT0
o01eHms.

9. Pacnonoscume yacmu 0106020 RUCbMA 6 NPAGUILHOM NOPAJKe.

1. April 11, 1000

2. Yours sincerely

3.1315 Allron Drive
St. Paul, Minnesota 55151

4. Dear Mr. Jack Freeman

5.1 would like to place the following order from your September catalogue:
-- 1 red, white and blue soccer ball, plastic $ 1.67

-- 1 lightweight wool sweaters

--1 size 15-33, light green, pullover

2. Onpeoenume, K KAKOMY 8UOY 0€106020 OOKYMEHMA OMHOCAMCA NPEOCMABIEHHbIE HUMICE
OmMpuIGKU.


http://www.youtube.com/watch?v=ZbR81eIIa2g
http://www.youtube.com/show/hitech

B [ have recently written an article about Lady Hester Stanhope for Kent County Magazine, and the
editor has asked me to supply a photograph. I believe you have one in the National Gallery and I am
writing to enquire if you would permit me to use it. Please let me know the fee you would charge.

B Dear Personnel Director:
I wish to apply for the full time opening you described
in The Times last Sunday for a General Manager.

3. Hanuwume 0enogoe nucbmo-3anpoc ungopmayuu 011 noayueHus cee0eHuil 00 ycioeusnx
npuema na paéomy.

2.2.6. TunoBbie BONPOCHI HA IPOBEPKY YMEHMI TOBOPeHHs (MOHOJIOTHYECKAas 1
AMAJIOTHYeCKas pedb).

1. Answer the following questions:

1. What kind of test is done to try to prove theories?

1. What is one group used in an experiment?

3. When do scientists come to a conclusion?

1. What are some factors that determine an area’s climate?

5. What is a greenhouse gas? What are the primary greenhouse gases?
6. What is the main reason of disrupting ecosystem?

I1. Prepare a one-minute talk on the following topics and answer the questions:

1. Talk about the Earth’s structure and spheres.

2. Talk about landforms.

3. Talk about components of an ecosystem.

4. Talk about trophic levels.

5. Talk about terrestrial biomes. Follow-up questions:

What are the parts of the atmosphere?

What landform is completely surrounded by water? What is an example of a habitat?
What is an example of a producer? What are some types of forest?

2.2.7. TunoBble 3a1aHNs HA IPOBEPKY YMEHUIl NMCbMEHHOI HAYYHOH pe4un

1) Write the application for research funds.
Professor:

Location of project:

Description of project:

2)Write the ecological report.

Area:

List populations that are threatened:

What is threatening the population:

What will probably happen to the population:

2.2.8. TunoBble 3a1aHNS HA IPOBEPKY JEKCHKO-TPAMMATHYECKHUX HABBIKOB

1) 3anonnume nponycku.

1. We usually find out if there will be rain or snow tomorrow listening to the weatheDon TV.
a. forecast b. news c. questions d. answers

1. We could hardly see through the window because of the| |



a. cool b. mist ¢. warm d. rainbow

3. There are seven colors in a |:|: red, orange, yellow, green, light blue, blue, violet.
a. rainbow b. sun c. moon d. water

1. The weather is changeable and very difficult to |:|

a. say b. forecast c. expect d. see

5. In Britain the weather isl:l. It may be rainy, then sunny and rainy again.

a. changeable b. interesting c. misty d. dangerous

6. When the seamen want to know if there will be a storm, they look at a|:| .

a. sea b. barometer c¢. map d. window

7. People always want to know more. It is g nature.

a. human b. animal's c. people's d. insects'

8. Some people fall ill when it is very hot, they can't stand the|:|.

a. hotness b. warm c. heat d. dry

9. The climate is changing, it is getting warmer because of the g

a. rainy weather b. hot c. greenhouse effect d. rainbow

10. There used to be many old |:|trees in the rainforests but there are few ones nowadays.
a. thin b. huge c. small d. broken

2) Pacnonoscume éce c106a 6 npaguibHoOM nopsoke.

1. on Fridays/in the cafe/eats breakfast/always/he— safely/they/arrived/this morning/home—
drinks coffee/in the evening/never/Sam— on a yacht/she sails/every summer/round the
islands— quietly/in his bed/slept/the baby/all night— often/home/she/goes/on Sundays/early—
rarely/you/see/cricket/these days/on TV—

in the garden/the nightingales/last night/loudly/were singing---

9. early/ every/ he/ to get up/ day/Saturday/ has/except---

10. later/ subject/ will/or/a bit/ a discussion/ have/ the/ you/ on/ now---

3) Boibepume eOuncmeenno npasuibHblil 6apuUanm omeema.

. You will spoil the work if you careful.

. won’t be b. will not c. aren’t d. don’t be

.Ifyou harder, your teacher will certainly appreciate it.

. will work b. will be working c. shall work d. start working

Ifwe time, we will discuss this problem.

. shall have b. has c. have d. had

. I'will be angry if he any more mistakes.

. makes b. would make c. will make d. making

. We won’t leave until it raining.

. doesn’t stop b. won’t stop c. isn’t stop d. stops

CIfit rain in the morning, we visit our friends in the country.
.1sn’t, will b. doesn’t, will ¢. doesn’t, are d. won’t rain, are

. If they umbrellas with them, they by rain.

a. take, won’t be caught b. will take, didn’t catch c. took, won’t be caught d. have take, will not
catch

8. If we care of the nature, our planet in some years.

a. don’t take, is destroyed b. won’t take, will destroyed c. don’t take, will be destroyed d. won’t
took, has destroyed

9.-Ifit tomorrow, our trip

--So ours.

a. rain, will spoil; will be

b. raining, will be spoil; will be

c. rains, will be spoiled; do
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d. rains, will be spoiled; will be
10.If people the atmosphere, living standards higher.
a. doesn’t pollute, are b. don’t pollute, will be c. is polluting, won’t be d. will pollute, will be

2.2.9. TunoBble 3a1aHNs HA IPOBEPKY YMEHUIl YTCHHUS

1) a) Read the text

Abraham Lincoln, the sixteenth President of the United States, was born on a farm in Kentucky, on
February 11, 1809. Abraham's father made his living by farming and by working, from time to time
as a carpenter. His mother died as he was only nine years old. Lincoln had no more than a year's
education, but during that time he managed to learn reading, writing and arithmetic. As a young man,
Abraham had many jobs, some of which involved him in journeys down the Mississippi where he
could see auctions of Negro slaves. From that time on he became opposed to the idea of slavery.

b) Onpeoenume, kaxoe ymeepircoenue A6a1emca nPaguibHoIM

a. Lincoln's experience made him go up against slavery.

b. Lincoln had difficulty finding a job as he knew little arithmetic, reading or writing.
c. Abraham's father made him do a lot of farming and carpentry.

d. Negro auctions made little impression on Lincoln.

¢) Onpedenume, Kakoe u3 ymeepiucoeHuil A614emcsa HenpasuibHbIM.

a. Lincoln was born in the state of Kentucky.

b. Lincoln changed a lot of jobs, one of them--at an auction of Negroes, down the Mississippi River.
c. Lincoln's mother died when he was a boy.

d.Lincoln's father was a farmer and a carpenter.

2) Read the text and translate it into Russian.

Water is necessary for life. It covers over 70% of the Earth's surface and is a very important resource
for people and the environment. Plants and animals require water that is moderately pure, and they
cannot survive, if water contains toxic chemicals or harmful microorganisms. Water pollution kills
large quantity of fish, birds, and other animals, in some cases killing everything in the affected area.
The major water pollutants are chemical, biological, and physical materials that lessen the water
quality.

Pollutants can be separated into several different classes:

The first class is petroleum products: oil, fuel, lubrication and plastics. Petroleum products get into
water by accidental spills from ships, tanker trucks and when there are leaks from underground
storage tanks.

The second class is pesticides and herbicides. If they penetrate into streams, rivers, lakes, these
chemicals can be very dangerous. Going up through the food chain, the chemical becomes more
harmful.

The third class is heavy metals, such as, mercury, selenium, uranium, radium, cesium, etc. They get
into the water from industries, automobile exhausts, mines, and natural soil.

The fourth class is fertilizers and other nutrients, which are used to promote plant growth on farms
and in gardens.

The fifth class is infectious organisms and pathogens. They enter water through sewage, storm drains,
runoff from farms, etc.

The last one is thermal pollution. Water is taken from rivers, lakes or seas to be used in factories and
power plants. It is usually returned to the source warmer than when it was taken. Even a small
temperature change can drive away the fish and other species that were originally there, and attract
other species in place of them. It breaks the balance and can cause serious circumstances in future.

a) Answer the questions:



1.Why is water an important resource for people and the environment?
2.How does water pollution influence flora and fauna?

3.What is the main effect of water pollution?

4.What are the major water pollutants?

5.What classes can water pollutants be separated into?

b) Fill in the correct word from the list below: desertification, awareness, sustainable, supply, rate,

supplies

In every corner of the globe, we are polluting, diverting, pumping, and wasting our limited

of fresh water at an exponential as population and technology grows, resulting in the
of the earth. We must begin to manage our water more efficiently and keep our limited

freshwater pure. Achieving a more use of urban public water supplies requires

not only the implementation of certain measures, but also raising public on water

conservation issues.

2.2.10. TunoBble 321aHUS HA IPOBEPKY YMEHUIl ayIMPOBAHUSA:

a) You will hear a radio interview. What are benefits and dangers of the sun?
b) True or false?

The sun is very good for skin complaints like acne.

Sunlight acts on the skin to reduce Vitamin C.

Sunlight is responsible for 85% of skin cancers.

80% of sun damage occurs before the age of 10.

¢) Fill in the blanks.

For people the risk of doubles every thousand kilometres nearer the you go.
It's the that does the damage. You should use a good to increase that but
remember that depends on how thinly you on your skin. Once your skin is tanned,
the tan will protect your skin than an untanned skin, but it's a good idea to carry on using a
light sunscreen all the same.

Tapescript

Benefits and Dangers of the Sun

PRESENTER: Thank you, John, for that report from Costa Rica. We'll have details of that and all the
other holidays at the end of the programme. And now we come to the spot in the programme where
we focus on holiday health issues. I think there's no doubt that for many of us a golden tan is the
ultimate goal of our annual holiday, and this week Carol has been looking into the benefits and
dangers of the sun. What's the good news, Carol?

CAROL: Well, the sun does have several beneficial effects on

the skin. It stimulates the circulation, for example, and it's very good for skin complaints like acne.
In addition, sunlight acts on the skin to produce Vitamin D, which is vital for our health.
PRESENTER: I always think that the sun has a good psychological effect as well. Is that true?
CAROL: Yes, in fact there's evidence that a lack of sunlight

makes some people ill. So, if you work in artificial light, doctors think it's a good idea to try to spend
at least 15 minutes a day in natural daylight. That's during the summer - and you need longer in winter.
PRESENTER: OK, how about negative effects?

CAROL: Well, sunlight is responsible for 95% of skin cancers

although, fortunately, 89% of these cancers are cured. And it's particularly important to protect
children from strong sunlight because 80% of sun damage occurs before the age of 10. PRESENTER:
And what about people like us, from colder countries ...?

CAROL: Yes, well, the more intense the light, the higher the

risk of skin damage. For light-skinned people the risk of skin cancer doubles every thousand
kilometres nearer the equator you go. It's the ultraviolet light that does the damage and before you go



swimming or walking, it's worth remembering that ultraviolet can pass through water, shade and even
through thin clothing.

PRESENTER:So what should we be doing?

CAROL: Well, the skin has its own protection from about

30% of ultraviolet light. You should use a good sun screen to increase that, but remember that the
degree of protection depends on how thinly you spread the cream on your skin. Once your skin is
tanned, the tan will protect your skin two to four times more than an untanned skin, but it's a good
idea to carry on using a light sunscreen all the same.

PRESENTER: And how long will that tan last?

CAROL: About 30 days, on average.

PRESENTER: So the message is: enjoy the sun but never

underestimate its power, and make sure you take sensible precautions to protect yourself from its
harmful effects. Thanks, Carol.

2.2.11. TunoBblie pydeKHBbIE TECTHI.
Tunosoii pyoe:xublii Tect 1 cemecTp
Grammar activities

Test 1. Infinitive Constructions.
Choose the right variant:

1) Many organizations allowed new recycling programs in their business processes
a) to introduce b) introducing c) introduce
2) The report on the negative effects of the greenhouse effect made us uncomfortable.

a) to feel b) feeling c) feel

3) Has the secretary come yet? I want to have my papers printed.
a) to have b) have c) having

4) I watched plants from seeds.
a) grow b) growing c) to grow

5) Many consumers are nowadays committed to “ green.”
a) go b) going c) to go

Test 2. Form a noun from a verb.
(to grow) Interactive simulation of a seed growing into a flowering plant help children aged 5-6
investigate the conditions plants need for

Test 3. Form an adjective from a verb.
(to know) Several well- and highly successful companies are proving to be leaders in the
fields of environmental sustainability.

Test 4. Choose the right tense form:
Eco-friendly businesses often from favorable public opinion and greater customer loyalty.
a) benefit b) are benefiting ¢) will benefit

Translation activities

Translate the sentences into Russian.

1. Recently more and more attention has been focused on the problem of preserving the environment
2. The present-day situation forces more and more countries to start contributing to this field of
research.

3. The link between the spread of some diseases and the quality of water for drinking and washing is
absolutely clear.



4. Nobody expects this problem to be solved within such a short period of time.

5. Lead is found in old water pipes and old paints. Occasionally, small children get lead poisoning
from eating lead-based paint from the walls of old houses.

6. We know national parks to be abused and subjected to tourism in such a volume and pattern as to
degrade and destroy the very natural resources whose preservation is legally required.

7. As a matter of fact, no living organism can be expected to survive at such temperature.

8. Birds, fish and mammals are often responsible for the distribution of parasites infecting man
through water supplies.

9. Developing countries today can also use large scale water chlorination because it is cost-effective.
10. The females of Emperor Penguins care the eggs solely, the males being far away from the colony
in the open ocean to get food for the females.

PedepupoBanue TeKCTOB 10 CHENUAIBHOCTH
IIpouuTaiiTe TEKCT M BBINOJHUTE 3aJAHUS.

Deke Arndt, Climate Monitoring Branch Chief, National Climatic Data Center

On any given day or any given month, somebody somewhere — maybe even where you live —
experiences colder-than-average temperature, even though the globe as a whole is warmer than
average. Pockets of cold on a warming planet. How can both be true? It has been true for hundreds
of months. These patterns are complex, but they’re not random.

Tracking global temperature starts with measurements in specific places. Long-term temperature
records at stations like this establish what is “normal”. It’s the average temperature. Subtracting this
average temperature from the observed temperature leaves a “temperature anomaly”.

The data from stations across large areas allow us to map these temperature anomalies around the
globe. The red areas on this map were warmer than average during winter — December, January, and
February. Blue areas were colder than the long-term averages. Last winter, the western United States
was colder than average, but the East was warmer. Intense cold blanketed northeastern Asia while it
was warmer than average just to the west. Even though there are a many pockets of cold, the overall
global temperature was above average. The area with above-average temperature outweighed the area
with below-average temperature.

Another interesting pattern is clear in this dataset. Notice that the temperature anomalies over the
ocean are much more muted than over land. This is because the ocean warms, and cools, more slowly
than land. Notice how much of the ocean is above average, though.

Moving into Spring, this March was below the 20th century average in the United States, but the
overall global temperature remained above the long-term average.

In studying regional climate patterns, climatologists are learning about the planet as a whole.
Understanding why one region differs from another takes an understanding about interactions among
the atmosphere, the ocean, and even human decisions. Sometimes, being climate-smart can be as
complex as the climate system itself.

From Asheville, North Carolina, I’'m Deke Arndt

Related

March 2013 Global Temperature Update

March: Out Like a Lion

Exercice 1. Give a title to the article. Give the main idea of the text.
Exercice 2. Ask questions to find the main idea of each paragraph.

Exercice 3. Translate the following:



Tracking global temperature starts with measurements in specific places. Long-term temperature
records at stations like this establish what is “normal.” It’s the average temperature. Subtracting this
average temperature from the observed temperature leaves a “temperature anomaly.”

Exercice 4. Make a summary using the following forms:

The ... subject (matter) ... of this paper is ...

The present paper ... goes (inquires) into / focuses on / deals with...

The aim of this paper is to find some optimal ways of... This paper aims at... Writing this paper there
were two / three goals in mind... The ... chief /general... aim is...

In this paper, ... attempt to clarify the relation of ... . To do so, ... first present ... then attempt to
show that...

The structure of this course paper is as follows. The first part reviews / describes / clarifies / outlines
... . Part 2 (section 2) dwells on / enlarges upon / shows that / argues that ... . The final part proposes
/ summarizes / spells out in detail.

Summing up the results of the conducted analysis the following conclusions can be made:... I want
to end this paper ... by repeating / stressing / emphasizing / nothing that ... . The obtained results ...
can be directly applied to the process of ... . In conclusion, ... is considered. / It is concluded that.../
Thus, we can make a conclusion (a. conclusion can be made) that... / From the results it is concluded
that... It may be noted (stated) that...

Exercice 5. Make a brief abstract in Russian (3 sentences, no more than 70 words)
TunoBoi py0e:kHbIl TECT 2 ceMecTp

Grammar activities
Test 1. Introduce appropriate linking words:
Actually, for example, in general, finally, on the whole, as a rule, in this case, also, in most cases, in
other words, moreover, what is more, so, in particular, in addition, besides, especially, mainly, as well
(as), not only... but also, to put it more simply, in fact, perhaps, it’s also possible that, let’s say:
There is, , little scientific dogma on cat navigation.

migratory animals like birds, turtles and insects have been studied more closely, and  use
magnetic fields, olfactory cues, or orientation by the sun.
Scientists say itis _ more common, although still rare, to hear of dogs returning home.
_____ Dr. Bradshaw said, that they have inherited wolves’ ability to navigate using magnetic clues.
But  dogs get taken on more family trips, and __ lost dogs are more easily noticed or helped by
people along the way.
“  Cats navigate well around familiar landscapes, memorizing locations by sight and smell, and
__easily figuring out shortcuts”, Dr. Bradshaw said.

“  they associate the smell of pine with wind coming from the north,  they move in a southerly
direction,” Dr. Bateson said .
“It’s  happened to me,” said Jackson Galaxy, a cat behaviorist who hosts “My Cat From Hell” on

Animal Planet.

Test 2. Find and translate the modal verb.

Holly the cat hardly seemed an adventurous wanderer, though her background might have given her
a genetic advantage. Her mother was a feral cat, but after all, she spent most of her life as an indoor
cat, except for occasionally running outside to chase lizards. This cat, it could be she has the
personality of a survivor.

Translation activities

Translate the sentences into Russian.



The environment is now on the political agenda throughout the world. Increasing concern shown by
the electorate about the quality of their environment has encouraged governments and business to
prepare for local and international action. The major issues include:

* possible climate change;

* land degradation and the impact of agriculture; air and water quality;

* loss of habitat, particularly wetlands and forests;

* biological diversity;

» waste and problems of its disposal; and

» depletion of the ozone layer.
Wastes — both those produced and those avoided — are a major concern in any consideration of
sustainable development.
Energy resources are available to supply the world’s expanding needs without environmental
detriment.
Wastes remain a major consideration whether they are released to the environment or not.Ethical
principles seem increasingly likely to influence energy policy in many countries, which augurs well
for nuclear energy.
The competitive position of nuclear energy “is robust from a sustainable development perspective
since most health and environmental costs are already internalized.”
PedepupoBanue TeKCTOB 10 CIEUATBHOCTH
IIpouTHTE TEKCT ¥ BHIMOJTHHUTE 32/ IaHUS.
Burning fossil fuels produces primarily carbon dioxide as waste, which is inevitably dumped into the
atmosphere.
With black coal, approximately one tone of carbon dioxide results from every thousand kilowatt hours
generated.
Natural gas contributes about half as much CO2 as coal from actual combustion, and also some
(including methane leakage) from its extraction and distribution.
Oil and gas burned in transporting fossil fuels adds to the global total. As yet, there is no satisfactory
way to avoid or dispose of the greenhouse gases which result from fossil fuel combustion.
Today uranium is the only fuel supplied for nuclear reactors. However, thorium can also be utilized
as a fuel for CANDU reactors or in reactors specially designed for this purpose.
Thorium is reported to be three times as abundant in the earth’s crust as uranium, it can be used as a
nuclear fuel.
Neutron efficient reactors, such as CANDU, are capable of operating on a thorium fuel cycle, once
they are started using a fissile material such as U-235 or Pu-239. Then the thorium (Th-232) atom
captures a neutron in the reactor to become fissile uranium (U-233), which continues the reaction.
Some advanced reactor designs are likely to be able to make use of thorium on a substantial scale.
The thorium fuel cycle has some attractive features, though it is not yet in commercial use.
The 2009 TAEA-NEA "Red Book" lists 3.6 million tones of known and estimated resources as
reported, but points out that this excludes data from much of the world, and estimates about 6 million
tones overall.
See also companion paper on thorium. Main references OECD NEA & IAEA, 2010, Uranium 2009:
Resources, Production and Demand WNA 2009 Market Report.
UN Institute for Disarmament Research, Yury Yudin (ed) 2011, Multilateralization of the
Nuclear Fuel Cycle — The First Practical Steps.

Exercise 1. Give a title to the article. Give the main idea of the text.
Exercise 2. Ask questions to find the main idea of each paragraph.

Exercise 3. Make a summary using the following forms:
The ... subject (matter) ... of this paper is ...



The present paper ... goes (inquires) into / focuses on / deals with ...

The aim of this paper is to find some optimal ways of ...

This paper aims at...

Writing this paper there were two / three goals in

mind... The ... chief/ general ... aim is...

In this paper, ... attempt to clarify the relation of...

To do so, ... first present... then attempt to show that... The structure of this course paper is as
follows.

The first part reviews / describes / clarifies / outlines...

Part 2 (section 2) dwells on / enlarges upon / shows that / argues that... The final part proposes /
summarizes / spells out in detail...

Summing up the results of the conducted analysis the following conclusions can be made:...

I want to end this paper... by repeating / stressing / emphasizing / noting that...

In conclusion, ... is considered. / It is concluded that...

Thus, we can make a conclusion (a conclusion can be made) that...

From the results it is concluded that...

It may be noted (stated) that...

Exercise 4. Make a brief abstract in Russian (3 sentences, no more than 70 words)

TunoBoi pyoe:kHbIil TECT 3 ceMecTp

3ananme 1
3anonnume nponycku:
1. The children swam quickly to the  in the sea.
a. Rock
b. House
c. Mountains
d. Stone

2. He is a real businessman, wealthy, successful, happy, in other words, rather
a. Prosperous
b. Picturesque
c. Devotion
d. Striking
3. The clock of the House of the Parliament  every hour.
a. Striking
b. Strikes
c. Hang
d. Takes
4. It’s hard work to learn to speak a foreign language
a. Quick
b. Fluently
c. Inbrief
d. Inshort
5. You can easily cross this . It is not deep and wide.
Ocean
Sea
Stream
Path

e o o



(o)

. Everyone knows that the sun _ in the west.
a. Sets
b. Rise
c. Rises
d. Setting
7. There are many people in light clothes walking along the  of the ocean.
a. Shore
b. Beach
c. Bank
d. Side
Little children like to play in warm sand on the  of the sea.
a. Bank
b. Beach
c. Pavement
d. Road
. People can hardly live inthe  because there is no water there.
a. Desert
b. Forest
c. Field
d. Sea
10. If you look at the map of the world, you can see many rivers, forests, seas, lakes,
oceans and mountain ____there.
a. Rows
b. Ribbons
c. Chains
d. Crosses

>

Ne)

3aganue 2
Buvioepume eouncmeenno npaguibHblii 6apuanm omeema:

GLOBAL WARMING
1. Farinto  future, the Earth is getting warmer and warmer ___ ice caps melt and sea
levels
a. A, that, rises
b. The, as, rise
c. —,as, rising
d. An, if, rise
2. That  the  scientific data  global warming.

a. Are, last, of
b. s, last, on
c. Is, latest, of
d. Is, latest, on
3. The work of several  scientists,  spent three years on the project, consists
____1,000-plus-page report.
a. Hundred, who, of



b. Hundreds, who, in
c. Hundred, that, of
d. Hundreds, who, of

4. But bottom line is clear: human-caused climate change continue many
centuries.

a. A,is, for
b. The, will, in
c. The, will, for

d. -, are, for
5. Global temperatures could rise by more 10 degrees Fahrenheit over  next
century, as much as they’ve  since the last Ice Age 20,000 years ago.

a. That, the, rise
b. Then, a, risen
c. Than, the, rose
d. Than, the, risen

6. While 10 degrees difference would cause  frosty New England morning, much
warming

bring with  more thunderstorms, floods and water-born diseases.
a. A, could, it
b. The, can, him
c. —, could, them
d. An, would, it
7. Skeptics  already expressed doubts  the weather  report.
a. Are, about, changes
b. Has, of, changing
c. Have, about, changes
d. Is, about, changes
8. Some of them |, the “scary predictions”  based  computer models only.
a. Says, are, on
b. Say, are, on
c

Say, is, on
d. Say, are, of
9. Most experts now understand that the “greenhouse effect”  the cause  climatic
change, and that  main cause is carbon dioxide and other gases from factories.
a. Is,at, it
b. Is, of, it’s
c. Are, of, it
d. Is, of, its
10. 1t verylikely  this century have higher maximum temperatures and more hot

days over nearly all land .
a. Is, that, arca
b. Will, that, areas
c. Is, that, areas
d. Does, then, areas



11. The 1990s was the  period, and 1998 was  warmest year since instrument
recording started ~ 1861.

a. Warm, a, in
b. Warmest, the, in
c. Warmer, —, in
d. Warm, the, in
12. Snow cover in the Northern Hemisphere has become by 10 percent since  1960s,
and the thickness of Arctic ice has _ thinner by as much as 40 percent.
a. Less, the, become
b. Little, a, become
c. Least, the, become
d. Less, —, become
13. But what  the solution _ this problem  ?

a. Is, of, be
b. Can, of, is
c. Is, of, —

d. Is,in, be

14. In Kyoto, Japan, 1997, more 100 countries signed treaty.
a. At, that, the

b. In, than, a
c. In,then, a
d. In, that, —
15.  included the general requirement  industrialized nations should stop
greenhouse-gas emission by 5 percent below 1990 level  2010.
a. He, that, by
b. It, what, in
c. Its, that, by
d. TIt, that, by

16. But nobody how it practice.
a. Know, to do, at
b. Knows, do, in
c. Knows, to do, in
d. Knows, doing, in
17.  any case, people began  efforts  control climate change.
a. In, making, in
b. At, make, in
c. In, to make, at
d. At, making, at
18. “Although this problem was created  people many years ago, consequences are now

clear,” says Nancy Kete.
a. In, her, quiet
b. By, it, quite
c. By, it’s, quite
d. By, its, quite



19. Sheis  director  the World Resources  climate, energy, and pollution
program.

a. A, of, Institute’s
b. The, in, Institute’s

c. —,at, Institute
d. A, in, Institute
20.  responsibility  reduce carbon emission lies  industrialized countries.
a. A, in, with
b. The, to, with
c. —,to, with
d. The, to, at

3aganme 3
Buvinoanume nepeeoo mexkcma

THE IMPORTANCE OF BEING “GREEN”

The word “ecology” means a natural balance between all living creatures and their environment.
But unfortunately, the humans have destroyed it and the ecological problems have become the most
important ones. People all over the world try to solve them to survive. Governments make laws to
protect air, water and soil against pollution.

International environmental organizations try their best to help. Greenpeace is the most famous one.
Its members appear in the places where the environment is endangered. They always act fast and
bravely. The whole world knows about the Greenpeace actions to stop hunting whales or killing baby
seals, to block the way to the ships that try to dump waste. They work hard to crate a nuclear-free
world. Some people are active members of such organizations, some support them with money.

But nowadays it’s more important to realise that every person should change his/her traditional
lifestyle, to become a “green” person to survive. That’s why even children are taught ecology at
schools. They discuss the ecological problems, study their own environment, try to become more
friendly to nature. We can't stop using cars, they are necessary for us. But if we use them less, we will
protect the air against the pollution. Thus in many countries people use bicycles more often for
shopping or short trips. It's cheaper and keeps the air cleaner.

At our homes we should save as much as we can including water, gas, electricity resources.

We should be careful buying washing powders. Some types of them are friendly to our environment,
but some are harmful and dangerous.

We should remember that we are part of nature, so we are endangered too. We have little physical
activity, watch TV for many hours, work on computers, eat wrong food. We are destroying ourselves.
When people realise the importance of the environmental problems and change their lifestyle, half of
work will be done. There is still hope.

3ananne 4

Buinonnume pegpepuposanue mexcma:

CHIMPANZEE GROUPS HAVE UNIQUE CULTURES, BUT PEOPLE COULD BE
DESTROYING THEM

Most people know that chimpanzees, some of the closest living relatives of human beings, are
extremely intelligent. It’s less well-known that different communities of chimpanzees have unique
cultures — meaning they exhibit socially learned behavior that get passed from generation to
generation.

As researchers learn more them, they are also discovering more about the diversity of behaviors
within chimpanzee groups — activities learned, at least in part socially, and passed from generation
to generation. These patterns are referred to as “traditions” — or even animal “culture.” In a new



study, scientists argue that this diversity of behaviors should be protected, and that they are now under
threat from human disturbance.

“What we mean by ‘culture’ is something you learn socially from your group members that you may
not learn if you were born into a different chimpanzee group,” Ammie Kalan, a primatologist involved
the study, told The Associated Press.

For example, New Scientist notes there’s one chimp community that uses moss like a sponge to soak
up and drink water — a behavior not seen in other groups. For example, researchers studying
chimpanzee groups in parts of West Africa encountered mysterious piles of stones alongside battered
tree trunks. Perhaps the purpose was to mark territory, or proclaim dominance within a group, or start
a game, or something else, the biologists surmised.

But not all chimpanzees are stone-throwers. Some groups use stones to crack open tree nuts.
Elsewhere in West Africa, sticks were the tools of choice, with young chimps in Guinea learning
from their elders to use them to “fish” in lakes for long strands of algae to eat. Or, in Nigeria, to poke
termite mounds to gather the insects for food.

“As chimpanzee populations decline and their habitats become fragmented, we can see a stark decline
in chimpanzee behavioral diversity,” said Kalan, co-author of the sweeping new study published
Thursday in the journal Science.

In a study published in the journal Science, researchers looked at 31 behavioral traditions among 144
chimpanzee groups across Africa. They found that in areas with heavy human activity like logging
or road building, the animals were less likely to exhibit these kinds of behaviors.

A fragmented landscape makes it harder for learned behaviors to spread, and some human activity
may force chimps to live in smaller groups, where less social learning is likely to occur, primatologist
and lead study author Hjalmar Kuhl told the Associated Press.

Climate change may also play a role, since it alters chimpanzee habitats and thus affects the animals’
behavior.

The findings suggest that when it comes to conservation, it’s important to consider individual cultures
— not just overall species populations.

“Each population, each community, even each generation of chimpanzees is unique,” primatologist
Cat Hobaiter, who is not one of the study’s authors, told The Atlantic. “An event might only have a
small impact on the total population of chimpanzees, but it may wipe out an entire community — an
entire culture.”

And that consideration isn’t just limited to chimpanzees. Animals like whales, dolphins and
orangutans have also displayed evidence of cultures.

3. OIIEHOYHBIE MATEPHAJIbI JUISI IMPOBEJEHUSI IMTPOMEXYTOYHOM
ATTECTAIIUM ITO JIUCHUIIJIMHE

[TpomexxyTo4yHast aTTecTanus mo AucuuIuinHe « THOCTpaHHBIH A3bIK ((haKyIbTaTUB)»
MPOBOJIUTCS B POPME aTTECTAIMOHHOTO UCTIHITAHKS MO HTOraM U3y4YeHH sl TUCHHUIIHHbBI/TI0
OKOHYAHHMHU OCEHHEro M JIeTHEero ceMectpa. Buapl arrecTalluOHHOTO WUCHBITAHUS —
IMMUCBMEHHBIN DSK3AMEH/3AYET C OHEHKOHM (8 coomsemcmsuu c
VIMBEPHCOCHHBIM YUeOHBIM NAAHOM).

ATTECTaIlMOHHOE UCIIBITAHUE POBOIUTCS 110 OUIIETaM, COIEPIKAIIUM TPH BOTIPOCA 110
mucuurminae «MHocTpaHHbId s3bIK (akynbTaTuB)». 1o pesynpTaTaM arTecTalMOHHOTO
WCIIBITAaHUS 00YYaOIIMICSA MOXKET MOMYy4HTh OT 1 10 25 GasioB.

Bompockl juisi TIOATOTOBKM K aTTECTAIIMOHHOMY HCHBITAHUIO 110 JUCITUILUIMHE
«HOCTpaHHBIH 36K ((PaKyIbTATHUB)Y:

1 cemecTp
TTucomenno:



1. ITuceMeHHBIN TTEPEBO HAYYHOTO TEKCTa C MHOCTPAHHOTO s3bIKa Ha pycckuit (2500 1.3.)

(Bpewms Beimonnenus 90 munyT) (IIpoBepka chopMrpoBaHHOCTH YMEHHUN THCHbMEHHOTO

TepeBo/Ia)

Yemnuo:

1. PedepupoBanue Ha HHOCTPAHHOM SI3bIKE HAYYHOT'O TeKCTa 1Mo nmpoduiro moarotoBku (2500-3000
1.3.)

2 cemecTp

Ilucomenno:

1. ITucepMeHHBIN NEPEBOJ HAYYHOI'O TEKCTA C NHOCTPAHHOTO sI3bIKa Ha pycckuid (2500 1.3.)

(Bpewms Beimonnenus 90 munyT) (IIpoBepka chopMrupoBaHHOCTH YMEHUN TUCHbMEHHOTO

TepeBo/Ia)

2. Hamucanue 1€10BOro nuchMa.

Yemnuo:

1. PedepupoBanue Ha HHOCTPAHHOM SI3bIKE HAYYHOT'O TeKCTa 1Mo nmpoduiro moarotoBku (2500-3000
1.3.)

3 cemecTp

Iucomenno:

1. ITucpMeHHBIN NEPEBOJ HAYYHOI'O TEKCTA C NHOCTPAHHOTO sI3bIKa Ha pycckuid (2500 1.3.)

(Bpewms Bemmostaenus 90 munyT) (IIpoBepka chopMupoBaHHOCTH YMEHUM MUCHMEHHOTO

MepeBoIa).

Yemnuo:

1. PedeprpoBanue Ha HHOCTPAHHOM SI3bIKE HAYYHOT'O TeKCTa 1Mo npoduiro moarotoBku (2500-3000
1.3.)

2. IIpencraBnenue AOKIana MO TEME MaruCTepCcKon auccepraliu (c npeseHranueit) (spems — 10
MUHYT).

3. becena no Teme MarucTepCKoi AUCCEPTALMH.

* Kpurepuu olieHHMBaHUS OTBETOB CM. B pa3zzene “Kputepuu orieHuBanus’”.

TunoBoi npoMeKyToYHBbIN TecT 1 cemecTp
Grammar activities

Test 1. Participle. Choose the right variant:

1. Amid (1 to rise) awareness of the impact businesses can have on the environment,
companies of every size and type have begun (2 to implement) environmental
sustainability initiatives.

1) a. rise b. rising C. risen

2) a. implementing b. implement c. to implement

2. Some companies are taking a big-picture approach by (1 to examine) every step of their
product lifecycle and applying green supply chain management practices across the board.

1) a. examine b. examining c. examined

2) a. apply b. applying c. applied

3. While improving working conditions and protecting the environment are certainly admirable goals,
they haven also proven to be good business strategies.

1) a. examine b. examining c. examined

2) a. apply b. applying c. applied

4. Most of the products are (1 to export) to (2 to develop) countries.



1) a. exporting b. exported

2) a. developing b. developed

5. For example, implementing environmentally sustainable practices has the potential to eliminate
waste and generate cost savings, to a stronger bottom line.

1) a. leading b. led

6. All machines are in the field of green supply chain management.

a) washing b) washed

Test 2. Gerund. Choose the right variant.

1. I really appreciate this opportunity. I’'ll do my best.
a) giving b) being given ¢) having been given

2. Our teacher suggests test next week.

a) writing b) being written c¢) having been written
3. He was clever enough in this delicate situation.
a) avoiding, speaking b) to avoid, to speak

¢) avoiding, to speak d) to avoid, speaking

4. I wonder if there is any use the results.

a) trying, improving b) trying, to improve

¢) to try, to improve d) to try, improving

5. She strongly objected to our a joint report.

a) making b) being made c¢) having been made

Test 3. Choose the right tense form:
Some companies (to take) a big-picture approach by examining every step of their product
lifecycle and applying green supply chain management practices across the board.

Translation activities

Translate the sentences into Russian.

1. eBay Eco-Initiatives. One example of a company with an environmental sustainability focus built
right into its business plan is eBay.

2. The online site makes it easy for people all over the world to exchange and reuse goods rather than
throwing them away, thereby lengthening the lifespan of these products so they don’t wind up as
trash.

PedepupoBanue TeKCTOB M0 CHENUAIBHOCTH

IIpoyuTaiiTe TEKCT M BBINOJHUTE 3aJaAHUS.

The atmosphere is the layer of gas that surrounds the earth. The composition of the atmosphere
changes with the distance from the earth's surface. The layer near the surface - the troposphere -
contains the air we breathe, which is 78 percent nitrogen, 21 percent oxygen, 0.03 percent carbon
dioxide, and 1 percent inert gases such as argon. Water vapor, small particles of dust, and tiny
quantities of other gases such as helium, ozone, nitrous oxide, and methane, are also present. The
stratosphere contains thin, cold air with less oxygen and no dust or water vapor. The ionosphere
contains very thin air and electrically charged particles which reflect electromagnetic waves.

The lower part of the stratosphere contains a band of warm gas called the ozone layer. Ozone absorbs
very shortwave ultraviolet radiation - that is, the harmful, burning rays from the sun. These rays kill
plants and cause burns, skin cancer, and cataracts in animals and man. The ozone layer protects us
from these damaging effects. The man-made chemicals chlorofluorocarbons break up ozone
molecules. Chlorofluorocarbons occur in some aerosols (such as deodorants, hair sprays and cleaning
fluids), expanded polystyrene (such as fast-food packaging) and the cooling mechanism of
refrigerators. Most scientists now accept that CFCs are very bad for the environment. They have
already caused a large hole in the ozone layer.



Another environmental problem in the atmosphere is the green-house effect. The sun's energy arrives
as short-wave radiation; some of this is reflected away in the clouds and upper atmosphere and some
is absorbed into the ground. About 5 percent of the energy are reflected off the earth's surface as long-
wave radiation. Certain gases in the atmosphere - especially carbon dioxide, methane and CFCs -
reflect this long-wave radiation back to earth. The glass in a greenhouse conserves heat by the same
principle, so these gases known as "greenhouse gases". The greenhouse effect is very important. But
an increase in the greenhouse effect may lead to global warming, with disastrous consequences.

A rise in the earth's average temperature of only one or two degrees would probably melt large
expanses of ice in the Arctic and the Antarctic and raise sea levels. Sea levels throughout the world
are already rising by about two millimeters a year. Many heavily populated regions, such as
Bangladesh, the Nile delta, the Netherlands and Indonesia, would be permanently flooded. Some
islands, such as Maldives in the Pacific, might disappear completely.

Exercice 1. Give a title to the article. Give the main idea of the text.

Exercice 2. Ask questions to find the main idea of each paragraph.

Exercice 3. Write out the answers to each of the above questions in complete sentences.

1. The atmosphere ...

a. is the layer of gas which contains thin, cold air with less oxygen and no dust or water vapor;
b. contains water vapor, small particles of dust, and tiny quantities of other gases;

C. a composition of gases that surround the earth.

2. Which layer of gas is the nearest to the earth?

a. the ionosphere; b. the troposphere;  c. the stratosphere;

3. Where is the ozone layer situated?

a. in the stratosphere; b. in the troposphere; c. in the ionosphere.

4. What destructs the ozone layer?

shortwave ultraviolet radiation;

harmful, burning rays from the sun;

man-made chemicals.

. What is meant by greenhouse effect?

the conservation of heat with the help of some gases;

the reflection of the sun’s energy in the clouds;

C. the absorption of short-wave radiation into the ground.

Exercice 4. Write a one paragraph summary using the following forms.

The present paper ... goes (inquires) into / focuses on / deals with... It is reported that ... The text
gives valuable information on... Much attention is given to... It is shown that... The first part reviews
/ describes / clarifies / outlines ... Summing up the following conclusions can be made:...

Exercice 5. Make a brief abstract in Russian (3 sentences, no more than 70 words).

o® Lo o

TunoBoi NpoMeKyTOYHBIN TECT 2 ceMecTp

Grammar activities

Test 1. Translate Passive Forms.

a. With another three endangered California condors dead from lead poisoning in Arizona,
conservation advocates are ramping up their call to phase out the use of lead ammunition.

b. Seven of the birds have died since December, and three of the deaths are definitively linked
with lead poisoning, according to the Center for Biological Diversity.

c. It’s clear that voluntary efforts to reduce lead ammunition use around the Grand Canyon
aren’t getting the job done.

Test 2. Find and translate the modal verb.



a. Three condors may not sound like many, but that’s already 5 percent of the entire Arizona-
Utah population, which numbers only about 80 birds.

b. Each year, up to half of the Grand Canyon condors must be given life-saving, emergency
blood treatment for lead poisoning.
c. Given the wide availability lowered cost and high performance of lead-free ammunition, these

states should admit it’s time to require nontoxic rounds for hunting.

d. When the cause of death could be determined, more than half were due to poisoning from
ingesting lead ammunition fragments left in carcasses of shot game.

Test 3. Form an adjective from a verb.

“The (to continue) deaths of Grand Canyon condors from lead poisoning is (to
prevent) if

we finally treat toxic lead ammunition as we did lead paint and leaded gasoline,” said Jeff Miller,
with the Center for Biological Diversity.

Translation activities

Translate the sentences into Russian.

Despite the basic biological, chemical, and physical similarities found in all living things, a diversity
of life exists not only among and between species but also within every natural population.

The phenomenon of diversity has had a long history of study because so many of the variations that
exist in nature are visible to the eye.

The fact that organisms changed during prehistoric times and that new variations are constantly
evolving can be verified by paleontological records.

The total number of animal and plant species is estimated at between 2,000,000 and 4,500,000;
authoritative estimates of the number of extinct species range from 15,000,000 up to 16,000,000,000.
We know national parks to be abused and subjected to tourism in such a volume and pattern as to
degrade and destroy the very natural resources whose preservation is legally required.

PedepupoBanue TEKCTOB 10 CHENUAIbHOCTH

IIpounTaiiTe TEKCT ¥ BHINIOJHUTE 32/1aHUS.

The economic environment consists of factors that affect consumer purchasing power and spending
patterns. Dominant categories of cars in the United States in the early 2000s were pick-up trucks and
sport utility vehicles (SUVs).

America’s big three motor companies, GM, Ford, and Chrysler focused heavily on this segment and
produced many trucks and SUVs for their consumers. The market for these categories became so
large and popular; they became cash cows for the “Big Three.”

Later in the decade though, consumers faced an increase in gas prices, environmental/green-eco
agencies raised awareness, and the start of the recession took place, ultimately diminished the demand
and consumption of large vehicles. The lasting effects these events brought have changed consumers
spending patterns.

With the 2010 North American International Auto Show just wrapping up, the main buzz was all
about small cars. Smaller, fuel-efficient cars have been gaining popularity among consumers and
many automobile industries have noticed. Paying for a large vehicle and constantly refilling its gas
tank is not considered practical anymore. The “Big Three” quickly had to go back to the drawing
boards and design smaller cars that not only provided good value and fuel economy, but also appealed
to the public.

Ford has been hyping up their new direction of the company, by marketing their new line up of small
cars that are appealing in style, yet very fuel efficient. For example, the Fiesta which was originally
designed for the European market is finally making its way to the United States; the great success it
has had over seas has made Ford realize its possible potential here.

Exercise 1. Give a title to the article. Give the main idea of the text.



Exercise 2. Ask questions to find the main idea of each paragraph.

Exercise 3. Make a summary using the following forms:

The ... subject (matter) ... of this paper is ...

The present paper ... goes (inquires) into / focuses on / deals with ...

The aim of this paper is to find some optimal ways of ...

This paper aims at...

Writing this paper there were two / three goals in mind...

The ... chief/ general ... aim is...

In this paper, ... attempt to clarify the relation of...

To do so, ... first present... then attempt to show that... The structure of this course paper is as follows.
The first part reviews / describes / clarifies / outlines...

Part 2 (section 2) dwells on / enlarges upon / shows that / argues that... The final part proposes /
summarizes / spells out in detail...

Summing up the results of the conducted analysis the following conclusions can be made:...

I want to end this paper... by repeating / stressing / emphasizing / noting that...

In conclusion, ... is considered. / It is concluded that...

Thus, we can make a conclusion (a conclusion can be made) that...

From the results it is concluded that...

It may be noted (stated) that...

Exercise 4. Make a brief abstract in Russian (3 sentences, no more than 70 words)

TunoBoi NpoMeKyTOYHBIN TecT 3 cemecTp

3aganme 1

3anonnume nponycku.

1. There used to be many animals a century ago. We can't see them now because they are
a. 11l b. extinct c. endanger d. frozen

2. There are a lot of in the parks and squares of almost all cities and towns and people like
to feed them.

a. cocks b. dodoes c. pigeons d. penguins

3. The world of nature is rich. There are a lot of usual and unusual of animals 1in it.
a. species b. creatures c. example d. numbers

4. Flies, ants, butterflies, ladybirds (6oxpu KopoBKkH), beetles are , tortoises, snakes and
crocodiles are .
a. birds, insects b. insects, reptiles c. mammals, reptiles d. reptiles, insects

5. They were interested in fishes and were very much surprised to find out that whales
are .
a. reptiles b. fishes c. mammals d.insects

6. He is seriously ill, there is no hope because people are not able to this disease.
a. cure b. damage c. include d. influence

7. We should protect rivers, oceans, seas and lakes, forests, fields and mountains because it is
the of many animals, the place where they live.
a. environment b. countryside c. habitat d. habit



8. People didn’t think much about environment and big plants, factories and cars
and water, so it is dangerous to live in cities nowadays.
a. destroy b. polluted c. cured d. ruin

atmosphere

9. Playing with matches may a great fire. Be careful!
a. have b. destroy c. cause d. makes

10. The pollution of the air may cause the of the ozone layer.
a. shortage b. destruction c¢. endanger d. poison
3aganue 2

Boibepume eouncmeenno npasunbHlil apuanm omeema.
1. My little sister isn't afraid of dogs. Neither my little brother.
a. does b. is c. do d. isn't

2. We didn't travel on board the ship last holidays. Neither our friends.
a. do b. are c. did d. travel

3. We have not got much time left. Neither they.
a. has b. are c. have d. got

1. She liked  of the two presents I gave her.
a. either b. both c. all d. none

2. ‘I don’t like chocolate ice-cream.’
a. but b. neither c. either d. so

2

6. ‘I love playing tennis.” ¢ .
a.nor [ dob. neitherdoIc.sodoId.soldo

7. We all failed the exam because of us had studied for it.
a. both b. either c. neither d. none

8. Ann travel a lot but she doesn’t go away very often now.
a. used b. is used to c. got used d. used to

9. This building is now a furniture shop. It be a cinema.
a. used b. got used c. used to d. is used to

10. Better Botter visit Buckingham Palace every year.
a. used to b. is used to c. got used d. used

MPOMEXYTOYHASA ATTECTALIUA - 3BAYET/9K3AMEH.
IIpumepsl popmyaupoBku Oustera 1-3 cemecTpoB.

1 cemectp

OENEPAJIBHOE 'OCY JAPCTBEHHOE ABTOHOMHOE OBPA30OBATEJIBHOE
YUYPEXIAEHUWE BBICHIET'O OBPA3OBAHUMA

POCCHUICKUM YHUBEPCUTET JIPYKBbl HAPOJIOB UMEHU MATPUCA JIYMYMBBI
(PYIIH)



WnctutyT OKonorun
Kagenpa nHOCTpaHHBIX S3BIKOB HHCTHTYTA YKOJIOTUH

WNHOCTpanHbBIN 361K ((haKyIHTATHB)
Buner Ne 1
1. BbImonHUTE NTHICHMEHHBIN IEPEBO HAYYHOTO TeKCTa 1 ¢ HHOCTPAaHHOTO S3bIKa Ha PYCCKUH.
2. BemonHuTe ycTHOE pedeprupoBaHUe HAYIHOTO TEKCTA 2.

3aBenyrommii Kadenpoit
MHOCTPaHHBIX S3bIKOB MOJITUCH

2 cemecTp

OEJIEPAJIBHOE TOCYAAPCTBEHHOE ABTOHOMHOE OBPA30OBATEJIBHOE YUPEX/IEHUE
BBICHIETO OBPA3OBAHUIA
POCCHUMCKU YHUBEPCUTET JIPYXEbl HAPOJIOB UIMEHHU ITATPHCA JTYMYMBEBI
(PYZIH)
HNHCcTHUTYT DKOMOTHI
Kadenpa nHOCTpaHHBIX S3BIKOB HHCTUTYTA 3KOJIOTHUH

HNHOCTpaHHbBIN 361K ((haKyIHTATHB)
buner Ne 1

1. BeIMONHATE THUCHMEHHBINH IEPEBO HAYYHOTO TEKCTa | C HHOCTPAHHOTO S3bIKA HAa PYCCKUH.
2. BemomauTe ycTHOE pedeprupoBaHre HAYIHOTO TEKCTa 2.
3. HammmmuiTe pemoBoe MAUCHMO IO 3aaHHON CUTYAITHH.

3aBeayromuii kadeapoi
WHOCTPAHHBIX SI3bIKOB H.I'. Baneesa

3 cemecTp

OEJIEPAJIBHOE I'OCYJAPCTBEHHOE ABTOHOMHOE OBPA3OBATEJIBHOE YUPEX/IEHUE
BBICIHIET'O OBPA3OBAHUA
POCCUMNCKUI YHUBEPCUTET JIPYKBbbl HAPOJIOB UMEHU ITATPHCA JTYMYMBBI
(PYIIH)
WnuctutyT OKonorun
Kadenpa nHocTpaHHBIX S3BIKOB HHCTUTYTA SKOJIOTHU

WHocTpaHHbIi 36K ((haKyIbTaTUB)
buner Ne 1
BrimonHNTE MUCHEMEHHBIHN TEPEBOJ] HAYYHOTO TeKCTa | ¢ MHOCTPAHHOTO S3BIKA HA PYCCKHIMA.
BeimonnuTe yctHOE pedeprpoBaHue HAYYHOTO TEKCTA 2.
[IpencraBpTe MOKIAM IO TEME MarUCTEPCKON AUCCEPTAITNH (C MPE3CHTAIINCH )
OTBeTHTE Ha BONPOC KOJIJIET IO MPEACTABICHHOMY JTOKJIaay, OTCTauBas U
apryMEHTHUPYS CBOIO TOUKY 3pEHUSI.

el S

3aBeayromuii kadeapoi
WHOCTPAHHBIX SI3bIKOB H.I'. Baneesa

TunoBbie MaTepuabl K OWJIETaM /151 IPOMEKYTOYHOM aTTeCTAIMY O JUCIHUIINHE
«HocTpanHblii A3bIK (paKyJIbTATHB)» IJISI MATHCTPAHTOB 1 Kypca

1. TekeT 1J151 THCBLMEHHOT0 MEPEBO/AA C AHIVIMIICKOIO A3bIKA HA PyccKuil A3bIK (2500 m.3.).
THE GREAT GREEN WALL INITIATIVE



In Africa, scientists are hard at work restoring land once rich with biodiversity and vegetation. Eleven
countries in the Sahel-Sahara region—Djibouti, Eritrea, Ethiopia, Sudan, Chad, Niger, Nigeria, Mali,
Burkina Faso, Mauritania, and Senegal—have joined to combat land degradation and restore native
plant life to the landscape.

In recent years, northern Africa has seen the quality of arable land decline significantly due to climate
change and poor land management.

Uniting under the banner of the “Great Green Wall” initiative, national and regional leaders hope to
reverse this trend.

The bulk of the work on the ground was originally slated to be concentrated along a stretch of land
from Djibouti (in the east) to Dakar, Senegal (in the west) an expanse 15 kilometers wide and 7,775
kilometers long. The project has since expanded to include countries in both northern and western
Africa.

Land degradation typically stems from both human-related and natural factors; overfarming,
overgrazing, climate change, and extreme weather are the most common causes.

Beyond affecting land and the natural environment, land degradation poses serious threats to
agricultural productivity, food security, and quality of life.

Nowhere is this issue more urgent than in sub-Saharan Africa, where an estimated 500 million people
live on land undergoing desertification, the most extreme form of land degradation.

Jean-Marc Sinnassamy is a senior environmental specialist with the Global Environment Facility
(GEF). He helps manage a program developed under the Great Green Wall initiative with countries
in the Sahel and West Africa.

The GEF has been with the initiative since the beginning, helping to convene country leaders at the
headquarters of the United Nations Convention to Combat Desertification in Bonn, Germany, in
February 2011.

The World Bank and other organizations focused on global development and the environment provide
financial and technical support.

For Sinnassamy, the partnership represents a unique opportunity to work across the region with a
solid political base.

“Here, we saw political leaders, heads of state, ministers in different countries wanting to work on
common environmental issues and wanting to tackle land degradation issues together,” he says. . . .
For us, this is a political blessing. We have to respond to this demand, and we have to capitalize on
that.”

Integrated Landscape Approach

Beyond the project’s strong political foundation, its carefully crafted approach brings environmental
benefits both locally and globally. The initiative uses an “integrated landscape approach” that allows
each country to address land degradation, climate change adaptation and mitigation, biodiversity, and
forestry within its local context...

https://www.thegef.org/news/great-green-wall

3. Teker 17151 YCTHOTO pepepaTHBHOIO MEPEeBOAA € AHIVIMIICKOI0 A3bIKAa HA pycckuid (2500-
3000 m.3.).

Air pollution at sea comes from various sources — mainly big urban centres, land transportation and
shipping. Italy Cruise ships — massive floating hotels — sail all around the coasts of Europe. But this
luxurious fleet doesn’t just carry passengers: it also helps to drive science forward.

Jens Hjorth, senior scientist in air pollution and atmospheric chemistry, at the European
Commission’s Joint Research Centre (JRC) explained: “There’s quite a high level of air pollution
over the Mediterranean. And there’s a lack of data about this, we don’t know enough. So we need
more observations. And this ship is a very good platform for making observations, because it covers
a large area, particularly around the coast where we often have air pollution problems.”

Measuring air pollution at sea has to be done on board a vessel, but running a dedicated ship would
be prohibitively expensive.


https://www.thegef.org/news/great-green-wall

So scientists from the JRC asked for free cabin on a commercial cruise ship — and got one.

The scientists come aboard to carry out maintenance but leave before the cruise starts: all the
measurements are automatic. A high resolution imagery system for the monitoring of surface floating
marine litter has been tested on “Costa Pacifica”.

Scientists at the JRC interact with the ship’s monitoring station remotely.

Particles have been sampled during campaigns for subsequent chemical analysis.

Pedro Miguel Rocha e Abreu, an air quality researcher at the JRC explained: “With this data
acquisition system we can access the data easily, without having to be physically present on the ship,
which is hundreds of miles away from here. And that makes our work much simpler.”

Jens Hjorth said: “It has a route in the Western Mediterranean. It starts in Savona, then it goes to
Barcelona, Palma, Malta, Catania, Naples and then back to Savona. It makes this trip every week. We
have been taking these kinds of measurements since 2006, always in the same area, following more
or less the same route. This gives us a data set that allows us to look at change, to see how this
situation is changing from year to year.”

Jens Hjorth explained: “The air is taken in through two tubes on deck. One measures gas and the
other measures particles. And then it’s analysed for SO2, for NOX, and for soot. And then we have
an instrument for measuring carbon monoxide, and we also measure ozone.”

The station takes air samples non-stop, at sea and in port. The data, sent by satellite Internet to the
JRC’s headquarters in Ispra, is used to feed and check computer models that simulate air pollution.
High levels of ozone and particulate matter cause risks to human health in many parts of the
Mediterranean areas. Ozone causes also damage to vegetation. The concentrations of ozone are
particularly high over the Mediterranean because its lifetime over the sea is longer than over the
continent.

http://www.apice-

project.eu/img_web/pagine/files/Tessalonicco/Annex03 29Jun2011  Hjorth JRC.pdf

3. Hanummte 1e10BO€e MUCHMO-3aIPOC MH(OPMAIIUH 1JIA TOJyYeHHUs CBeleHNH 00 yCJI0BHSIX
npuemMa Ha paoory.

Tunosble MaTepuasbl K OMjIeTAM AJI POMEKYTOYHOM ATTECTAIMH N0 TUCIUIIIHHE
«MHOCcTpaHHBIH A3bIK ((pakyJbTaTHB)» 1151 MATHCTPAHTOB 2 Kypca

1. TekeT 1J1s1 THCBLMEHHOI0 MEPEBO/AA C AHIVIMIICKOIO A3bIKA HA PyCCKUil A3bIK (2500

n.3.). Integrated Landscape Approach - The Great Green Wall initiative.

While trees and forests are only part of the focus of the Great Green Wall initiative, many in the
media have cast the project as solely a tree-planting project and an attempt to halt the southward
expansion of the Sahara Desert.

It is much more nuanced than simply planting a belt of trees across the continent of Africa.

Beyond the project’s strong political foundation, its carefully crafted approach brings environmental
benefits both locally and globally. The initiative uses an “integrated landscape approach” that allows
each country to address land degradation, climate change adaptation and mitigation, biodiversity, and
forestry within its local context.

“In this case, working to combat land degradation is the best way to address both very local issues
and improve the global environment,” Sinnassamy, senior environmental specialist with the Global
Environment Facility (GEF), says.

“We are working with the land, which is the basis of livelihood in these communities. We are working
with people to improve soil quality, which improves crop yield and in turn agricultural production
and the overall quality of life in the community. These very local benefits are also a way to generate
global benefits for water, land, and nature.”

In the end, Sinnassamy hopes the region as a whole will be composed of a “mosaic of landscapes”
that increases biodiversity and maintains native flora as part of agricultural land. Each participating
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country has its own individual goals, which include reducing erosion, diversifying income, increasing
crop yield, and improving soil fertility.

In Niger, Mali, and Burkina Faso natural regeneration managed by farmers has yielded great results.
“We want to replicate and scale up these achievements across the region”, he says. “It’s very possible
to restore trees to a landscape and to restore agroforestry practices without planting any trees. This is
also a sustainable way of regenerating agroforestry and parkland.”

A misperception Sinnassamy points to is that the Sahara Desert is not, in fact, expanding.

“We are not fighting the desert,” he says. “In the majority of the areas we are working in these 11
countries, the desert is not advancing. The Sahara Desert is a very stable ecosystem. Of course,
there are some areas on the margins — for instance in Senegal, Mauritania, and Nigeria — where
there are some sand movements. But from a geographic perspective, over time the desert has been
relatively stable in this area.” https://www.thegef.org/news/great-green-wall

2. TekeT AJ1 YCTHOTO pepepaTHBHOIO NepeBo/ia ¢ AHIVIMICKOIO0 si3bIKa Ha pycckuii (2500-3000
n.3.). What is becoming clear is that eco-friendly materials are being used not only in large-scale
production, but also in much smaller projects.

It’s time for a bit of cooking at a research Institute in Brindisi, Southern Italy.

The recipe is simple: a splashing of natural textiles, a good dose of partially-bio resin and a pinch of
bio-additives and enzymes.

Stir well and place your mixture in an oven for a few hours at 60 degrees Celcius.

“It is made out of linen fabrics and natural resins. It is a sustainable, completely organically derived
product,” says Andrea Ferrari, coordinator at the engineering firm D’ Appolonia.

It is, in fact, a new composite structure born out of renewable materials.

And it is these scientists’ dream that this new ecomaterial will soon replace plastic composites.

“We are convinced that very soon we will be able to replace fossil-derived materials with exclusively
natural materials. We’re talking about materials born out of by-products like cotton, linen or hemp,
or resins made with sugar cane or other crops which are not aimed at the food market,” says Andrea
Ferrari.

Before it hits the market, the new ecomaterial’s mechanical performances are fully tested and
compared with those of carbon and other classic composites.

Tests include fracture toughness, elasticity and plasticity.

“As far as we can see, the natural composite has inferior mechanical properties compared to classic
composites. For instance, it is less rigid and shows less mechanical strength than carbon composite,”
says Andrea Salomi, a materials engineer at Cetma research centre.

“But these mechanical characteristics don’t mean that the natural composite will be more difficult to
use than carbon composites. It depends on the type of final product that we want to develop with it,”
he adds. “Research is ongoing to increase the quality of the natural composite. In a year’s time, we
will have a top quality product. And it shouldn’t be that expensive. The natural composite will cost
between 20 and 25 percent more than current plastic composites. That would mean a price increase
of just 30 of 40 cents per kilo for natural composites,” says composite manufacturer Guy Simmonds.
It’s hoped this new biocomposite could become a market reality in the next three to four years.
Researchers are not short of ideas. Various concepts are currently under study. The new biocomposite
could be used to equip cars, to build construction panels or to assemble furniture or musical
instruments.

Taking care of the environment is one aspect of design and manufacture that has become a fact of life
for major producers. Creating new materials that are both ecologically sound and fit for purpose is
slowly becoming the major focus for companies around the world.

As this focus shifts, we're beginning to see imaginative new material created from a variety of raw
materials. So, here we go then: a list of five eco materials that will change the world:

1) Mushrooms can be used in the production of car bumpers, dashboards and side doors.


https://www.thegef.org/news/great-green-wall

Since the mycelium product is grown rather than made, complications can develop along the way.
Rigorous testing has to be in place to ensure the mycelium grows at an even spread and does not leave

air pockets inside the product.
http://ecocycle.org/ecofacts

3.IlpeacraBbTe Q0K 10 TeMe MAarUCTEPCKOM quccepTalMu (¢ mpe3eHTanuei)
4. OTBeThTE HA BONPOC KOJLJIET MO MPeACTABJIEHHOMY J0KJIAAy, OTCTAUBAA U APTYMEHTUPYH

CBOI0 TOYKY 3peHHsl.

PA3PABOTYHUKMN:

3aBenyromuii kageapoii

BaneeBa Hanas 'apudoBna

HHOCTPAHHBIX SI3bIKOB F IR
Jlomxuocts, BYII Iloamuce damuiusa N.0.
JoueHnT kadeapbl HHOCTPAHHBIX F YaanoBa Kanutoaunna
AI3BIKOB : JleonnioBHa
Jomxnocts, BYII IToamuce ®amunus U.0.
Jouent kadgeapbl HHOCTPAHHBIX 3akuposa IOaus JIbBoBHA
SI3BIKOB
Jlomxuocts, BYII Iloamuce damuiusa N.0.
JloueHT Kadeapbl HHOCTPAHHBIX
v ITaBgoBa Enena bopucoBna
A3BIKOB
Jlomxuocts, BYII Iloamuce damvuiusa N.0.
PYKOBOJIUTEJIb BYII:
) BaneeBa Hanas 'apudoBna
Kadeapa nHocTpaHHBIX 3bIKOB - ——

Haunmenosanue bYII

IToamnuce

damumua 1.0.
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